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BCE/D-20 26001
FINANCIAL ACCOUNTING-I

Paper–BC-101

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory.
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(a) Distinguish between accounting and accountancy.

(b) What is convention of conservatism?

(c) What is outstanding and prepaid expense? Give journal
entry with example.

(d) Difference between capital expenditure and revenue
expenditure.

(e) Del-Credre commission and over-riding commission.
(5×4=20)
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2. What is accounting? Explain the advantages and limitations

of accounting. 15
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3. An accountant finds a difference of Rs. 3,715 in the trial

balance prepared on 31st March, 2018 which he put on the

debit side of suspense account. The following errors were

discovered later on :

(i) Rs. 710 the total of sales return book has been posted

to the credit of purchase return book.

(ii) A B/R for Rs. 500 received from Gopal was passed

through bills payable book. However, the personal

account was correctly credited.

(iii) An item of Rs. 626 written off as bad debts from

Chanderkant has not been debited to bad debts account.

(iv) Goods sold to X and Y for Rs. 1,600 and Rs. 1,200

respectively, but were recorded in the sales book as to

X Rs. 1,200 and Y as Rs. 1,600.

(v) Goods of Rs. 850 were returned to Bhardwaj. It was

recorded in purchase book as Rs. 580.

(vi) An amount of Rs. 675 for a credit sale to Govind,

although correctly entered in the sales book has been

wrongly posted as Rs. 756.
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(vii) A sum of Rs. 375 owed by Ravi has been included in
the list of sundry creditors.

(viii) An amount of Rs. 750 spent on the repairs of old
machinery has been debited to Repairs account.

Pass journal entries to rectify the errors and prepare a
suspense account. 15
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4. On 1st April, 2015 machinery was purchased by Mohan for

Rs. 50,000. On 1st Oct., 2016 additions were made to the

extent of Rs. 10,000. On 1st July, 2017 further additions

were made to the extent of Rs. 6,400. On 30th Sept., 2018,

part of the machinery, the original value of which was

Rs. 8,000 on 1st April, 2015 was sold for Rs. 6,000.

Depreciation is charged at 10% per annum on original cost.

Show the machinery account for four years in the books of

Mohan and books are closes on 31st March every year.

15
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5. (a) What is ledger? Give its format? What are the

advantages of ledger? 7

(b) Explain the errors which do not affect the trial balance

with the help of examples. 8
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6. From the following particulars prepare Trading and Profit &

Loss account for the year ended 31st March, 2017 and

Balance Sheet also as at the date :

Particulars Amt (Rs.) Particulars Amt (Rs.)

Plant & Machinery 80,000 Rent 12,000

(1-4-2016) Insurance premium

Plant & Machinery 1-1-2017 to 1,200

31-12-2017

purchased (1-7-2016) 20,000 Cash at bank 5,400

Debtors 1,20,000 Wages 20,400

Creditors 32,000 Advertising 4,800

Furniture 5,000 Carriage Inwards 10,200

Motor Car 70,000 Carriage Outwards 2,000
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Purchases 1,60,000 Fuel & Power 15,700

Sales 2,80,000 Capital 3,50,000

Sales return 15,000 Drawings 12,000

Salaries 36,000 Brokerage 700

Opening Stock 60,000 Donation 5,100

Motor car Expenses 6,000

Stationery 500

The following information is relevant :

(i) Closing Stock Rs. 55,000. Stock Valued at Rs. 10,000

was destroyed by fire on 18th March, 2017 but, the

insurance company admitted a claim of Rs. 6,800 only

which was received in April 2017.

(ii) Stationary for Rs. 150 was consumed by the proprietor.

(iii) Goods costing Rs. 1,200 were given away as charity.

(iv) A new signboard costing Rs. 1,500 is included in

advertising.

(v) Rent is to be allocated 2/3rd to factory and 1/3rd to

office.

(vi) Depreciate machinery by 10% and Motor Car by 20%.

(vii) Motor car is used partly for business and partly for

private purposes, therefore one half of car expenses

including car depreciation is to be charged to proprietor's

account. 15
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Particulars Amt. (Rs.) Particulars Amt.  (Rs.)

���Q���������	��	 80,000 
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31-12-2017
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7. (A) Delhi Sports Club received in 2020 Rs. 1,00,000 as

subscription. Further informations are :

(i) Subscription due but not

received on 1-1-2020 Rs. 8,000

(ii) Subscription received in

advance on 1-1-2020 Rs. 3,000
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(iii) Subscription due but not

received on 31-12-2020 Rs. 4,000

(iv) Subscription received in

advance on 31-12-2020 Rs. 2,000

What amount should be credited to income and expenditure

account as subscription? 5

(B) Differentiate between Receipt and Payment account and

Income and Expenditure account. 10
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8. Ram sent 1000 cycles to Mohan @ Rs. 1,500 per cycle on

consignment. Ram paid freight Rs. 1,00,000 and insurance

Rs. 15,000. During transit 100 cycles were totally damaged

by fire. Insurance company paid Rs. 1,40,000 for claim of

loss. Mohan took delivery of 900 cycles and paid Rs. 15,300

for octroi. 800 cycles were sold at Rs. 2,200 each. Expenses

of Mohan were Rs. 20,000. Mohan was entitled to a

commission of 5%. Mohan settled the account by bank draft.

Prepare ledger accounts in the books of Ram. 15
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9. Explain the followings :

(a) Revenue reserves and capital reserves with examples.

5

(b) Characteristics of double entry system. 5

(c) Provision for depreciation account. 5
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BCE/D-20 26002

MICRO ECONOMICS

Paper–BC-102

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is

compulsory, which comprises five short type

questions carrying 4 marks each. Attempt four

questions from the remaining eight questions

carrying 15 marks each.

dqy ik¡p iz'uksa ds mÙkj nhft,A iz'u la[;k 1

vfuok;Z gS ftlesa ik¡p y?kq iz'u gSa] izR;sd y?kq iz'u
4 vad dk gSA 'ks"k vkB iz'uksa esa ls pkj iz'u
dhft,] ftlesa izR;sd iz'u 15 vadksa dk gSaA

Compulsory Question (vfuok;Z iz'u)

1. Answer the following in brief : 5×4=20

fuEufyf[kr dk la{ksi esa mÙkj nhft, %

(a) State any four arguments in favour of Economics

being a Science.

vFkZ'kkL=k ds foKku gksus ds i{k esa dksbZ pkj rdZ
nhft,A

(b) Under what conditions Price of a good and its

Demand are positively related?
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fdu ifjfLFkfr;ksa esa ,d oLrq dh dher vkSj ekax esa
/ukRed lEcU/ ik;k tkrk gS\

(c) State four features of Utility.

mi;ksfxrk dh pkj fo'ks"krk,¡ fyf[k,A

(d) Distinguish between the internal and external

Economics of Scale.

vkUrfjd o ckgjh iSekus dh cprksa esa varj Li"V
dhft,A

(e) Show the shut-down situation of a Firm

diagramatically.

js[kkfp=k dh lgk;rk ls ,d iQeZ dh mRiknu can fLFkfr
n'kkZb,A

2. What is Price elasticity of Demand? Explain

expanditure method and Revenue method of

measuring it. 15

ekax dh dher yksp D;k gksrh gS\ bls ekius dh O;; fof/
o vkxe fof/ dk o.kZu dhft,A

3. What is Indifference Curve Analysis? Analyse the

properties of Indifference Curve Technique. 15

rVLFkrk oØ fo'ys"k.k D;k gS\ rVLFkrk oØ rduhd dh
fo'ks"krkvksa dk fo'ys"k.k dhft,A

4. Critically examine the Law of diminishing Marginal

Utility. 15
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?kVrh lhekUr mi;ksfxrk ds fu;e dh vkykspukRed O;k[;k
dhft,A

5. What is meant by Returns to Scale? Explain its various

phases. 15

iSekus ds izfriQy dk D;k vfHkizk; gS\ bldh fofHkUu
voLFkkvksa dk o.kZu dhft,A

6. Explain various short run Cost Curves with the help

of tables and diagrams. 15

js[kkfp=k ,oa rkfydk dh lgk;rk ls vYidkyhu ykxr
oØkas dk o.kZu dhft,A

7. Explain the equilibrium of a Firm and Industry under

Perfect Competition in short run. 15

iw.kZ izfr;ksfxrk esa ,d iQeZ o m|ksx ds vYidkyhu larqyu
dh O;k[;k dhft,A

8. What do you mean by Price Discrimination? When

is it possible and profitable? 15

dher foHksn ls vkidk D;k vfHkizk; gS\ ;g dc lEHko
o ykHknk;d gksrk gS\

9. Elaborate the short run and long run Equilibrium of

a Firm under Monopolistic Competition. 15

,dkf/dkjh izfr;ksfxrk esa ,d iQEkZ ds vYidkyhu o nh?kZdkyhu
larqyu dk foLr`r o.kZu dhft,A
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PRINCIPLES  OF  BUSINESS  MANAGEMENT

Paper–BC-103

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is

compulsory. Each part carries 4 marks. Attempt any four

questions from remaining eight questions.

����� � �������	�����	
���
��
	������������������	�������	������

����	� ����
�� �		 � !� �����	� ���� �	
"	�
��� ����	
�� #
�� �


�	
$��	��� ����� ��
�%� ����
�� ����� �&� ���� �	� ���

1. Compulsory Question 
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Answer the following in brief :

(a) Differentiate between Business and Profession.

(b) Discuss the significance of management.

(c) What is matrix organisation ?

(d) What are the objectives of motivation ?

(e) Explain any four principles of controlling.
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2. Discuss the Management's importance in the present
Scenario ?
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3. Critically analyse the contribution of Henry Fayal in the field
of Management.
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4. What is Planning ? Discuss different types of plans ?
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5. What is Decentralisation ? Discuss the merits and demerits
of decentralisation.
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6. Define Motivation. Explain various theories of motivation
in brief.
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7. “Leaders are born not made.” Explain this statement.
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8. Define Delegation. What are the barriers to delegation and

how these barriers can be overcome ?
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9. Discuss various conventional and modern techniques of

managerial control.
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COMPUTER APPLICATION IN BUSINESS

Paper–BC-104

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

Attempt any four questions out of remaining eight questions.

1. Compulsory Question

Explain the following :

(i) System Software and Application Software.

(ii) Open-Source Software.

(iii) Real-Time Operating System.

(iv) Text formatting features in Word Processing.

(v) 13, 15, 17 processors. (54=20)

26004/PDF/KD/137/Trans. [P.T.O.



(i)

(ii)

(iii)

(iv)

(v)

2. Define Computer with its characteristics. Explain its components

with block diagram. (15)

3. What is input device? Explain the various input devices used in

a personal computer. (15)

4. Describe the functions of operating system. Explain the

characteristics of multitasking and multiprocessing operating

system. (15)

26004/000/KD/137 2
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5. What do you mean by spreadsheets? Write any five functions of

data handling in spreadsheets. (15)

6. Write short notes on the following :

(i) Network Topologies. (6)

(ii) LAN, MAN and WAN. (9)

(i)

(ii)

7. Discuss the following :

(i) Guided Transmission Medium for networking. (8)

(ii) Database Management System. (7)

(i)

(ii)

8. Explain page setup, page layouts and mail merge features of

word processor. (15)
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9. What operating systems are used in mobile phones? Explain their

characteristics. (15)



correction in Q. No. 6(a) of Sr. No. 26005 

BC-105: Business Mathematics-I of B.Com 1st Semester 

 

)()()()(

1

1

1

3

3

3

zyxxzzyyx

zz

yy

xx

++−−−=  



26005/K/1239 P. T. O.

Roll No. ......................... Total Pages : 4

BCE/D-20 26005

BUSINESS MATHEMATICS–I

Paper–BC-105

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all, Question No. 1 is

compulsory. Rest questions carry equal marks.

1. (i) Prove that 9 27

5
log 27 – log 9

6
= . 4

(ii) Find the sum of 20 terms of series : 4

2 4 6 8 10 12 ..........− + − + − +

(iii) Find the second derivative of 
log x

x
. 4

(iv) For what value of x , the given matrix :

3 2 1
A

2 4

x x− + 
=   

 is a singular matrix? 4

(v) Find the effective rate of interest 6% p.a.

compounded continuously. 4

2. (i) If 1 log , 1 log , 1 log ,a b cx bc y ca z ab  = + = + = + prove

that = + +xyz xy yz zx . 7½



26005/K/1239 2

(ii) Simplify by using log tables :

11
32

3 1
5 4

(17.5) (15.2)
.

(56.3) (12.4)

−

+

−
7½

3. (i) Find the sum of the series .6+.66+.666+........to

n terms. 7½

(ii) A machine depreciates in values at the rate of

10% every year on reducing balance. If the

original cost be `  20,000 and the ultimate scrap

value `  13,122, find the effective life of the

machine. 7½

4. (i) Differentiate 
1

(log )xxx x+  w.r.t. x . 7½

(ii) If 
p q p q( )x y x y ++ = + , then prove that 

2

2

d
0

d

y

x
= .   7½

5. (i) A window is in form of a rectangle surmounted

by a semi-circular opening. The total perimeter

of the window is 10m. Find the dimensions of

the windwo so as to admit maximum light

through the whole opening. 7½

(ii) A Sitar manufacturer can still ‘x’ sitars per week

at `  ‘p’ each where 5 375 3p.x = −  The cost of
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production is `  

2

5
500 13

x
x

 
 
 

+ + . Find how many

sitars should be manufactured for maximum

profit and what is the Profit? 7½

6. (i) Prove that :

3

3

3

( ( ( (

1

1 ) ) ) ).

1

x x

y x x y y z z x x y z

z x

= − − − + +
7½

(ii) Express the following matrix as sum of a

Symmetric and Skew-symmetric matrix :

.

1 2 4

6 8 1

3 5 7

 
 
 
  

7½

7. (i) The sum of three numbers is 6. If we multiply the

third number by 2 and add the first number to

the result, we get 7. By adding second and third

numbers to three times the first number, we get

12. Use determinants to find the number. 7½

(ii) Solve the following system of equations : 7½

2 8 5 5

2

2 2.

x y z

x y z

x y z

+ + =

+ + = −

+ − =



8. (i) Find the nominal rate of interest when interest

is payable half yearly which is equivalent to

the effective rate of 6.14% per annum. 7½

(ii) Find the Compound interest on `  6,950 for 3

years if interest is Payable half yearly, the rate

of interest for the first two years being 6% p.a.

and for the third year 9% p.a. 7½

9. (i) A Colour television worth `  10,000 is Purchased

on instalment plan under which 10 equal

instalments including interest at 10% per annum

are payable. Find the amount of Annual

instalment. 7½

(ii) A man borrows `  6,000 at the rate of interest

6% p.a. compounded continuously and promises

to pay off the loan in 20 annual instalments.

Find the amount of each Annual instalment.

7½

26005/K/1239 4
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Roll No. ......................... Total Pages : 3

BCE/D-20 26006

BUSINESS COMMUNICATION

Paper–BC-106

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is

compulsory, which comprises five short type

questions carrying 4 marks each. Attempt four

questions from the remaining eight questions

carrying 15 marks each.

dqy ik¡p iz'uksa ds mÙkj nhft,A iz'u la[;k 1

vfuok;Z gS ftlesa ik¡p y?kq iz'u gSa] izR;sd y?kq iz'u
4 vad dk gSA 'ks"k vkB iz'uksa esa ls pkj iz'u
dhft,] ftlesa izR;sd iz'u 15 vadksa dk gSaA

Compulsory Question (vfuok;Z iz'u)

1. Write short notes on the following : 5×4=20

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, %

(a) Components of Communication process

lapkj izfØ;k ds eq[; vax

(b) Grape vine

viq"V lekpkj
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(c) Body language

dkf;d Hkk"kk

(d) Principles of Presentation

izLrqfrdj.k ds fl¼kar

(e) Resume.

fjT;weA

2. What is Verbal Communication? What are its various

types? Explain it and distinguish between Non-verbal

and Verbal Communication. 15

'kkfCnd lapkj D;k gS\ blds fofHkUu izdkj D;k gSa\ O;k[;k
dhft, vkSj v'kkfCnd lapkj vkSj 'kkfCnd lapkj esa Hksn izdV
dhft,A

3. What do you mean by Corporate Communication?

Explain the main channels of the Corporate

Communication. 15

fuxe lapkj ls vkidk D;k vfHkizk; gS\ blds eq[;
pSuyksa dh O;k[;k dhft,A

4. What is SWOT analysis? What are its basic elements?

Describe its main components. 15

LoksV fo'ys"k.k dk D;k vFkZ gS\ blds eq[; vk/kjHkwr rÙo
D;k gSa\ blds eq[; ?kVdksa dk o.kZu dhft,A



5. What is meant by Group Discussion? Discuss the

pre-requisites and advantages of a group discussion.

15

lkewfgd fopkj&foe'kZ ls D;k vfHkizk; gS\ lkewfgd
fopkj&foe'kZ dh iwoZ 'krks± rFkk ykHkksa dk o.kZu dhft,A

6. What do you mean by Effective Listening? What are

its main principles? 15

izHkkoiw.kZ Jo.k ls D;k vfHkizk; gS\ blds eq[; fl¼kar
D;k gSa\

7. What is an Employment Interview? What preparation

do you have to make to appear in an Employment

Interview? 15

lk{kkRdkj ls D;k vfHkizk; gS\ lk{kkRdkj nsus ls igys vkidks
D;k rS;kfj;k¡ djuh pkfg,\

8. What is Business Letter? Discuss in detail the various

parts of a Business Letter. How it can be made

effective? 15

O;kolkf;d i=k D;k gS\ O;kolkf;d i=k ds fofHkUu Hkkxksa
dh foLrkj ls O;k[;k dhft,A bls fdl izdkj izHkko'kkyh
cuk;k tk ldrk gS\

9. Discuss the various modern forms of Communication.

15

lapkj ds fofHkUu vk/qfud :iksa dh O;k[;k dhft,A

26006/K/819 3
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BCE/D-20 26017
COMPUTER FUNDAMENTALS AND LOGICAL

ORGANIZATION
Paper–BC(Voc)-105

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

Attempt four more questions from remaining questions.

1. Compulsory Question 

(i) State various characteristics of computer.

(ii) Represent (8620)10 into (i) BCD code, (ii) Binary number.

(iii) Comment on the purpose of DMA.

(iv) What are the various types of software?

(v) State various applications of spreadsheet. (54=20)

(i)

(ii) (8620)10 (i) (ii)

26017/PDF/KD/140/Trans. [P.T.O.



(iii)

(iv)

(v)

2. Differentiate between following :

(i) RAM and ROM.

(ii) Sequential and Direct access devices.

(iii) Input and Output devices. (15)

(i)

(ii)

(iii)

3. Simplify the following expressions using Boolean algebra rules :

F = (A + B)( A  + B)(A + B ).

F = AB + BC + B C . (15)

F = (A + B)( A  + B)(A + B ).

F = AB + BC + B C .

26017/000/KD/140 2
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4. Obtain the minimal SOP and POS for the function given below

using K-Map :

F(A, B, C, D) = (1, 3, 7, 11, 15) + (0, 2, 5).

Also design the logic diagram for the simplified expression.

(15)

F(A, B, C, D) = (1, 3, 7, 11, 15) + (0, 2, 5).

5. Differentiate between encoder and decoder. Design a decimal

to BCD encoder along with a 4 : 16 decoder with the help of

3 : 8 decoders. (15)

6. What is a flip-flop? What are its operating characteristics? Explain

working of JK Master-Slave flip-flop along with how it eliminates

the problems encountered in JK flip-flop. (15)



7. (i) What is meant by open-source software? Explain any two

open-source software in brief. (7.5)

(ii) What is meant by linker and loader? Explain in brief.

(7.5)

(i)

(ii)

8. What is meant by networking? Explain various types of networks

in detail. Also describe the various topologies along with their pros

and cons in detail. (15)

9. (i) What is meant by addressing modes? Explain in brief.

(5)

(ii) If an instruction is stored at location 300 with its address

field at location 301. The address field has the value 400.

A processor register R1 contains the number 200. Evaluate

the effective address if the addressing mode of the

instruction is (i) direct; (ii) immediate; (iii) relative;

(iv) register indirect; (v) index with R1 as the index register.

(10)
26017/000/KD/140 4
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(i)

(ii)

(i) ;

(ii) ; (iii) ; (iv) ; (v) 
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BCE/D-20 26018
BUSINESS DATA PROCESSING AND PC SOFTWARE–I

Paper–BC(Voc)-106

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

1. Compulsory Question 

(i) What is record? Differentiate between logical and physical

record. (4)

(ii) Write the shortcut keys to replace the text, to create

hyperlink and to paste the text in a document in word

processor. (4)

(iii) How are Header and Footer applied to a word document?

(4)

(iv) Write the steps to sort data in a spreadsheet. (4)

(v) How are tables prepared in a worksheet? (4)

(i)

26018/PDF/KD/141/Trans. [P.T.O.



(ii)

(iii)

(iv)

(v)

2. What do you mean by data processing? How computers are

useful in data processing and in business functions? Discuss.

(15)

3. What is information? Differentiate between operational, tactical

and strategic information using suitable examples. (15)

26018/000/KD/141 2
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4. What do you mean by file organization? Discuss various types

of file organizations. (15)

5. Discuss the following proof reading features of a word

document :

(i) Spelling and Grammar.

(ii) Thesaurus.

(iii) Auto Correct. (15)

(i)

(ii)

(iii)

6. (i) What is a macro? How can you create and execute a

macro in a word processor? (8)

(ii) What is hyperlink? Write the steps to create a hyperlink in

a MS-Word document. (7)



(i)

(ii)

7. (i) Discuss the applications of spreadsheet package. (8)

(ii) Discuss the following :

(a) Primary key.

(b) Foreign key.

(c) Candidate key. (7)

(i)

(ii)

8. (i) Explain various Statistical functions using suitable examples

in a spreadsheet package. (8)

(ii) What is the purpose of Formula Bar in a spreadsheet?

How is it used? (7)

26018/000/KD/141 4



(i)

(ii)

9. What do you mean by Chart? Explain various types of Charts in

spreadsheet software. (15)

26018/000/KD/141 5
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BCE/D-20 26019
COMPUTER FUNDAMENTALS

AND BUSINESS DATA PROCESSING
Paper–BC(Voc)-105

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

COMPULSORY QUESTION

1. (i) How are informations vital for human being?

(ii) Write full forms of the following abbreviations :

(a) RAM,  (b) CD-ROM,  (c) OMR,  (d) DVD.

(iii) What is a hexadecimal number system?

(iv) What is a multiprogramming operating system? Give one

example.

(v) What is the function of Windows Explorer of Windows

operating system? (45)
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(i)

(ii)

(iii)

(iv)

(v)

2. Draw a block diagram to illustrate the basic organisation of a

computer system. Also explain functions of various units of a

computer system. (15)

3. Elaborate technology, size and configurations of following
generation of computers :

(i) Third generation.

(ii) Fourth generation.

(iii) Fifth generation. (53)

(i)

26019/000/KD/142 2
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(ii)

(iii)

4. Differentiate between :

(i) Human being versus a computer system. (7)

(ii) Single-user operating system versus multi-user operating

system. (8)

(i)

(ii)

5. (i) Briefly explain historical evolution of MS-DOS operating

system. (7)

(ii) “Operating system is a resource manager”. How? (8)

(i)

(ii)

6. Write syntax and purpose of following MS-DOS commands :

(a) CLS, (b) CD, (c) RD, (d) VOL, (e) SCANDISK,

(f) DISKCOPY. (62½)



(a) CLS, (b) CD, (c) RD, (d) VOL, (e) SCANDISK,

(f) DISKCOPY.

7. (i) Convert hexadecimal number (AD.7E)16 into decimal,

binary, octal and BCD numbers. (8)

(ii) Add and subtract the following octal numbers in 7’s and

8’s complement forms : (7)

(a) 67.45 (b) 67.45

+ 42.23 –42.23

(i) (AD.7E)16

(ii)

(a) 67.45 (b) 67.45

+ 42.23 –42.23

8. Define and explain following data processing activities :

(i) Data sorting.

(ii) Data recording.

(iii) Data updation. (53)
26019/000/KD/142 4



(i)

(ii)

(iii)

9. (i) What is a control panel of Windows operating system?

What all you can do using control panel? (9)

(ii) Write a short note on Windows desktop. (6)

(i)

(ii)

26019/000/KD/142 5
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BCE/D-20 26020
INTRODUCTION OF COMPUTER APPLICATIONS

Paper–OMSP-BC(Voc)-106
Option No.–(ii)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

Attempt any four questions of remaining eight questions.

1. Compulsory Question 

Answer the following questions in brief :

(i) Write the main functions of Input Unit.

(ii) What are the different generations of programming

languages?

(iii) Define the types of operating system.

(iv) What are the database management softwares?

(v) What is the concept of video conferencing? (45=20)

26020/PDF/KD/143/Trans. [P.T.O.



(i)

(ii)

(iii)

(iv)

(v)

2. Define computers with its components. Explain the functions of

the components in detail. (15)

3. Write short notes on the following :

(i) Operating Systems for tabs.

(ii) Word processors.

(iii) Local Area Networks. (53=15)

(i)

(ii)

(iii)

4. What are the different feature and applications of spreadsheets?

(15)

26020/000/KD/143 2
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5. (i) What is the difference between High level and Low level

languages? (8)

(ii) What are the characteristics of good programming

languages? (7)

(i)

(ii)

6. What is an Operating System? Explain the various functions

performed by an Operating System. (15)

7. Define open-source software. Explain the characteristics and

limitations of open-source software. (15)

8. What is computer network? Explain the topologies of

networking. (15)



9. Explain the following :

(i) Search Engine.

(ii) Broadband Networks.

(iii) Social Networking. (53=15)

(i)

(ii)

(iii)

26020/000/KD/143 4
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BCE/D-20 26021
LIFE INSURANCE–I
Paper–BC(VOC)-105

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Q. No. 1 is compulsory.

����� � ���� ���	� ����� �	
��� ����� 
����� �� �������� ���

1. ��������	
���
������
���
���� �����

(a) What are the factors governing sum insured ?

(b) Differentiate between nomination and assignment.

(c) Explain surrender value.

(d) Explain life insurance as a collateral.

(e) Discuss policy provision. (4×5=20)

��� ����� 	����� ��
� ��������� �	�
� ���
� ��	��  ��� ���!

���� ����	"�� �#��� 
��$�%�� �
�� ���	� ���&'�

�%� 
���"�� �()�� ���&'�

�*�� +���� ����� '�� 
����� ����,�(��� ��� �	�� ���

�-� ��.��
�� ����/������ �"�����	�
�

2. “Insurance is able to curtail inflation, so it should be made
compulsory.” Comment. 15

00����� ���%�&����
�����	�
� �
�� 
1��� ��2� &
��'� &

��	����
������� ���33� �45�"��� �	�
�

��������	�
����
 �������



�������
����
 �

3. What are the various essentials of insurance contract ? 15

����� �����/� ��� ���,���� �����
6���'��� ��������'��  ��� ���!

4. “The policies are freely assignable in case of life insurance.”
Discuss. 15

00+���� ����� ��� $���� �
�� ��.��
�� ��
� ��
���� 

� 
����� 
��

����33� �"�����	�
�

5. What is risk and how risk is determined in life insurance ?
15

+�
�����  ��� ��� ���	� +���� ����� ��� $���� �
�� +�
����� ��


��7����	�� �	�
� ���!

6. What are the various factors affecting the calculation of
premium ? 15

�����������%"�����
����,�������	�
����
��8������9�����

����!

7. What are the various forms of payment of Surrender values ?
15


���"�� �()���
� ,��%���� �
� ���,���� ����	� ����9����� 

� ���!

8. Discuss the suicide and payment of insured amount. 15

��8��8��� ���	� ������ 	����� �
� ,��%���� ��� �"���� �	�
�

9. Discuss the difference types of Insurance. 15
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BCE/D-20 26022
GENERAL  INSURANCE-I

Paper–PPI-BC(Voc)-106

Time : Three Hours] [Maximum Marks : 80

Note : Question No. 1 is compulsory and each part of it carries

4 marks. Attempt any four questions out of remarking

questions carrying 15 marks each.
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1. Compulsory Question 	
����
�� �����

Write down 1-2 pages note on the following :

(a) Socio-economic aspects of insurance.

(b) Agriculture Insurance.

(c) Surrender value of non-life policy.

(d) Warranties.

(e) Endorsements and duration of Insurance.
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2. Define Insurance ? Explain the principles of insurance and
how insurance is helpful in promoting economic development
in a country like India ? 15
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3. “Fire Insurance is a contract of indemnity and utmost good
faith.” Explain. 15

5�
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4. Define marine Insurance. Explain the types of marine
insurance policy and their conditions. 15

��91�(� '(�
��
�� �
��


�
*���
��� ��91�(� '(�
� �
;
#�(���� ���
�
��
�
��� <��(� �
*
�=� �
�� '*
�>�

5. What is motor Insurance ? Discuss the types of losses covered
under motor insurance and procedure to settle claims under
motor insurance. 15
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6. Write detail note on the following :

(a) Assignment and Nomination of policy.

(b) Re-insurance and Double Insurance.

(c) Insurance Marketing.
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7. Explain the structure and operation of general insurance in
India. Discuss the growth of general insurance in India.

15
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8. What are the different parties to a general insurance contract ?
Explain the documents required for general insurance.

15
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9. Explain the procedure of settlement of claims under marine
insurance. Discuss the types of losses and abandonment of
losses under marine insurance. 15
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BCE/D-20 26023
MARKETING  COMMUNICATION-I

Paper–ASPSM BC(VOC)-105

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No.1 is compulsory.

Each short answer question carries 4 marks. Select any

four questions from the remaining eight questions carrying

15 marks each.

1. Compulsory Question 

Short answer question :

(a) Define Communication.

(b) Define Marketing Communication.

(c) Discuss briefly the modes of Marketing Communication

Mix.

(d) Discuss benefits of Integrated Marketing

Communication.

(e) Explain Economic Aspects of Marketing

Communication.
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2. Explain the importance of Marketing Communication in

today's competitive business environment.

3. Clearly explain the nature and objectives of Marketing

Communication.

4. Discuss various types of Communication along with their

advantages and disadvantages.

5. Write a brief description of each element of the marketing

communications mix.

26023/00/KD/375 2
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6. Explain in detail the steps involved in Marketing

Communication Process.

7. Explain the various elements of developing effective

Marketing Communication.

8. Discuss the emerging issues and challenges involved in

marketing communication.

9. Explain Social Media Marketing along with its advantages

and disadvantages.
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BCE/D-20 26024
FUNDAMENTALS OF ADVERTISING

Paper-ASPSM-BC(VOC)-106

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

All questions except Q. No. 1 carry equal marks.

1. Compulsory Question (5×4=20)

(i) Explain sales objectives of advertising.

(ii) What do you mean by Social advertising?

(iii) Explain any three limitations of advertising.

(iv) Discuss marginal revenue approach of advertising

budget.

(v) What do you mean by online advertising?
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2. Define advertising. Explain the functions performed by

advertising. (15)

3. Write notes on the following : (15)

(a) Types of advertising on the Basis of Demand

Influence-level.

(b) Types of advertising on the basis of Nature of Appeal

made.

4. Why are advertising objectives set? Explain the specific

objectives of advertising. (15)

5. Discuss advertising as an Important tool of marketing.

6. Write notes on the following :

(a) Strengths of advertising as a Promotional tool.

(b) Characteristics of Advertising objectives in Dagmar

Approach.

26024/00/KD/1412 2
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7. What is advertising budget? Explain the factors affecting

Advertising Budget. (15)

8. What are the essentials of an effective advertising?

Explain. (15)

9. Write notes on the following : (15)

(a) Benefits of advertising to the Society.

(b) Stages of communication model.
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OBCE/D-20 26026
BUSINESS  COMMUNICATION  SKILLS

Paper–BC-102

Time : Three Hours] [Maximum Marks : 80

Note : Question No. 1 is compulsory. Attempt any four questions

from the remaining eight questions.
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1. Compulsory Question ����
���� �����

Short answer questions. Explain :

(a) Informal Communication.

(b) What is kinesics.

(c) Mock Interview.

(d) Self-Development.

(e) Intercultural Factors. (5×4=20)
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2. What is effective communication? What are its essential

elements ? What is its importance ? 15
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3. What do you mean by communication barriers ? Explain

different types of barriers in brief. 15
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4. What is Audience Analysis ? Discuss the importance and

different types of Audience. 15
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5. What do you understand by Grapevine Communication?

What is its importance in an organisation ? Explain. 15
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6. What is effective listening ? What are its main principles ?

15
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7. What is “SWOT Analysis” ? What are its main components ?

How it is useful is business. 15
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8. What is meant by modern forms of Communication ? Discuss

some important forms of modern communication. 15
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9. How is cultural sensitiveness affected by cultural differences ?

Explain some of the important cultural differences. 15
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OBCE/D-20 26027
MICRO ECONOMICS

Paper–BC-103

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question number 1 is

compulsory.
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(a) Economics is not a science. Discuss. 4

(b) Distinguish between a normal good and an inferior

good. 4

(c) What is marginal rate of substitution? 4

(d) Discuss the kinds of price discrimination. 4

(e) What is the difference between Rent and Quasi rent. 4
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2. Explain whether Economics is a science or an art or both.

15
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3. Distinguish between extension of demand and increase in
demand and contraction of demand and decrease in demand
with the help of diagrams. 15
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4. Explain the law of equi-marginal utility. Also give its
importance and limitations. 15
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5. What are Indifference curves? Discuss their characteristics.
15
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6. Explain the law of variable proportions. What are the causes
of application of this law? 15
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7. Distinguish between market price and normal price. How is
market price determined? 15
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8. What do you mean by monopoly? How are the price and
output determined under it ? Explain. 15
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9. Explain the Ricardian Theory of Rent. 15
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OBCE/D-20 26028
PRINCIPLES  OF  MANAGEMENT

Paper–BC-104

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is

compulsory.
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1. Compulsory Question 
���
���� �����

(a) Management vs Administration. 4

(b) The North American Free-Trade Agreement. 4

(c) Matrix Organisation. 4

(d) McGregor's Participation Theory. 4

(e) Meaning of Communication. 4
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2. Write an essary on the contribution of Taylor in the field of

Management.
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3. Briefly explain the principles and functions of Management.

15
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4. What can be various types of plans in an Organisation ?15
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5. What is ‘Line and Staff’ Type Organisation ? In what type

of organisations this design is adopted ? Give its advantages.

15
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6. What do you understand by Delegation ? Explain the

principles of Delegation. 15
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7. Explain Principles of Leadership and Leadership styles. 15
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8. What do you understand by ‘Communication Network’ ?

Discuss its various types. 15
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9. Explain the Monetary and Non-Monetary motivation in

promoting labour efficiency. 15
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OBCE/D-20 26029
BUSINESS MATHEMATICS–I

Paper–BC-105

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five Questions in all. Question No 1 is compulsory.

COMPULSORY QUESTION

1. Attempt all the following :

(i) If y = 
4x

x
, Show that x

dy
dx

 = y(1 – y). (4)

(ii) Evaluate : 
xa dx
x

 . (4)

(iii) Find the values of x, y, z if 
2x y x y
x z x y z
  

 
   

= 
10 1
2 8

 
 
 

. (4)
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(iv) Evaluate : 
1/ 2

20 1

x dx
x




. (4)

(v) Find the value of x so that the matrix 

1 2 3
1 2 1

2 3x

 
 
 
  

 is

singular. (4)

(i) y = 
4x

x
, x

dy
dx

 = y(1 – y).

(ii)
xa dx
x

 .

(iii)  
2x y x y
x z x y z
  

 
   

 = 
10 1
2 8

 
 
 

, x, y, z

(iv)
1/ 2

20 1

x dx
x




.

(v) x  

1 2 3
1 2 1

2 3x

 
 
 
  
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2. (i) If y = xx, show that 
22

2
1d y dy y
y dx xdx
 

  
 

 = 0. (7½)

(ii) If u = log 
2 2x y

xy


, then show that 
2 2u u

y x x y
 


   

. (7½)

(i) y = xx, 
22

2
1d y dy y
y dx xdx
 

  
 

 = 0.

(ii) u = log 
2 2x y

xy


, 
2 2u u

y x x y
 


   

.

3. (i) Evaluate : 2
1 1xe dx
x x

 
  

 
. (7½)

(ii) Evaluate : 
1

0
2 1x dx . (7½)

(i) 2
1 1xe dx
x x

 
  

 
.

(ii)
1

0
2 1x dx .

4. (i) If A = 
3 1
1 2

 
 
 

, then find f(A), where f(x) = x2 – 5x + 7.

(7½)
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(ii) Prove that 
1 1 1
  

  

 = () () ().

(7½)

(i) A = 
3 1
1 2

 
 
 

, f(A)

f(x) = x2 – 5x + 7.

(ii)
1 1 1
  

  

 = () () ().

5. (i) Express 

1 7 1
2 3 4
5 0 5

 
 
 
  

 as sum of a symmetric and skew-

symmetric. (7½)

(ii) If A = 
2 0
1 1
 
 
 

 and B = 0 1
2 4
 
 
 

, verify that (AB)–1 =

B–1A–1. (7½)

(i)

1 7 1
2 3 4
5 0 5

 
 
 
  

 

(ii) A = 
2 0
1 1
 
 
 

 B = 
0 1
2 4
 
 
 

, 

(AB)–1 = B–1A–1.



6. (i) Solve the system of equations x  + y  + z = 6;

2x – y + z = 3 and x – 2y + 3z = 6. (7½)

(ii) The perimeter of a triangle is 45 cm. The longest side

exceeds the shortest side by 8 cm and the sum of the length

of the longest and the shortest side is twice the length of

the other side. Find the lengths of sides of the triangle.

(7½)

(i) x + y + z = 6; 2x – y + z = 3 

x – 2y + 3z = 6

(ii)

7. (i) Evaluate : 2 2
2

( 1) ( 2)
x dx

x x


 
. (7½)

(ii) If A = 
1 1 1
2 3 0

18 2 10

 
 
 
  

, prove that A (adj A) = 0. (7½)
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(i) 2 2
2

( 1) ( 2)
x dx

x x


 
.

(ii) A = 
1 1 1
2 3 0

18 2 10

 
 
 
  

, A (adj A) = 0.

8. (i) Evaluate : 
1

0

1log 1 dx
x

 
  

 
. (7½)

(ii) Using elementary column transformations to find the

inverse of 
2 1 3
4 1 0
7 2 1

 
 


 
  

. (7½)

(i)
1

0

1log 1 dx
x

 
  

 
.

(ii)
2 1 3
4 1 0
7 2 1

 
 


 
  

26029/000/KD/144 6



9. (i) Evaluate : 2 3 2
x dx

x x


 
. (7½)

(ii) If u is a homogenous function of degree n in x and y then

prove that :

x2
2

2

x

u




 + 2xy

2u
x y


 
 + y2 

2

2
u

y



 = n(n – 1)u. (7½)

(i) 2 3 2
x dx

x x


 
.

(ii) u, x y n

x2
2

2

x

u




 + 2xy

2u
x y


 
 + y2 

2

2
u

y



 = n(n – 1)u.

26029/000/KD/144 7
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Roll No. ......................... Total Pages : 11

BCM/D-20 26044

CORPORATE ACCOUNTING–I

Paper–BC–301

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is

compulsory carrying 20 marks. Remaining

Questions carrying 15 marks each.

dqy ik¡p iz'uksa ds mÙkj nhft,A iz'u la[;k 1

vfuok;Z gS tksfd 20 vadkas dk gSA 'ks"k izR;sd iz'u
15 vadksa ds gSaA

Compulsory Question (vfuok;Z iz'u)

1. Give answers in brief :

la{ksi esa mÙkj nhft, %

(a) Calls in Advance

vfxze ;kpuk

(b) Capital Redemption Reserve A/c

iw¡th 'kks/u lap; [kkrk
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(c) Convertible Debentures

ifjoRkZu'khy ½.k i=k

(d) Ex-Interest and Cum-Interest purchase of

debentures.

½.k i=kksa dk C;kt jfgr vkSj C;kt lfgr Ø;

(e) Amalgamation in the nature of Purchase.

Ø; dh izÑfr dk ,dhdj.kA

2. What is Forfeiture of Shares? When and how the

shares of a Company can be forfeited? What entries

are made for the forfeiture of shares?

^va'kkas dks tCr djus* dk D;k vFkZ gS\ va'kksa dks dc vkSj
dSls tCr fd;k tk ldrk gS\ va'kksa ds gj.k ij D;k
izfof"V;k¡ dh tkrh gaS\

3. How is the discount on Issue of Debentures written

off? Explain with examples.

½.k i=kksa ds fuxZeu ij dVkSrh dks fdl izdkj vifyf[kr
fd;k tkrk gS\ mnkgj.kksa lfgr le>kb,A

4. Describe the various methods for the Redemption

of Dentures with suitable illustrations.

½.k i=kksa ds 'kks/u dh fofHkUu fof/;ksa dk mfpr mnkgj.kksa
lfgr o.kZu dhft,A
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5. What Journal entries are passed in the books of

Transferor company in case of Amalgamation?

,dhdj.k dh n'kk esa gLrkarj.k djus okyh dEiuh dh iqLrdkas
esa D;k izfof"V;k¡ dh tkrh gSa\

6. A Co. Ltd. offered to the public 20,000 Equity

shares of `  100 each at a premium of `  10 per share.

The payment was to be as follows :

On Application `  30 per share

On Allotment `  30 per share
(including premium)

On First Call `  25 per share

On Second & Final Call `  25 per share

Applications were received for 35,000 shares.

Application for 10,000 shares were rejected. Applicants

for 15,000 shares were allotted 10,000 shares and

remaining applications were accepted in full. The

Directors made both the calls. One shareholder

holding 500 shares failed to pay the two calls and as

a consequence his shares were forfeited. 200 of these

shares were re-issued as fully paid at `  80 per share.

Expenses of issue came to `  10,000.



Prepare Cash Book, the Journal and the Balance

Sheet on the basis of information given above.

, dEiuh fyfeVsM us `  100 okys 20]000 lerk va'k

`  10 izfr va'k izhfe;e ij turk dks izLrkfor fd;kA Hkqxrku
fuEu izdkj gksuk Fkk %

vkosnu ij `  30 izfr va'k

vkcaVu ij `  30 izfr va'k (izfe;e lfgr)

izFke ;kpuk ij `  25 izfr va'k

f}rh; rFkk vafre ;kpuk ij `  25 izfr va'k

35]000 va'kksa ds fy, izkFkZuk i=k izkIr gq,A  10]000 va'kksa
ds fy, vkosnu i=kksa dks vLohÑr dj fn;k x;kA 15]000
va'kksa ds vkosndksa dks 10]000 va'kksa dk vkcaVu dj fn;k
x;k rFkk 'ks"k vkosnu i=kksa ij lEiw.kZ vkcaVu dj fn;k x;kA
lapkydksa us nksuksa ;kpukvksa dh ek¡x dj yhA ,d va'k/kjh
ftlds ikl 500 va'k gSa] nksuksa ;kpukvksa dh jkf'k dk Hkqxrku
djus esa vleFkZ jgk vkSj blds ifj.kkeLo:i mlds va'kksa
dk vigj.k dj fy;k x;kA buesa ls 200 va'kksa dks `  80
izfr va'k] iw.kZnÙk va'kksa esa iqu% fuxZeu dj fn;k x;kA

fuxZeu O;; `  10]000 gq,A

mijksDr nh gqbZ lwpukvksa ds vk/kj ij jksdM+ cgh] tuZy
rFkk fLFkfr fooj.k rS;kj dhft,A

7. X Ltd. earned a profit of `  18,00,000 for the year

26044/K/305 4



ending 31st March, 2018 after making provision for

depreciation and taxation. `  2,80,000 profit was

brought forward from last year to this year. Following

recommendations were made by the directors of the

company to appropriate this profit :

(i) To pay `  1,20,000 as bonus to the employees of

the Company.

(ii) To propose dividend @ 10% on equity shares.

(iii) To transfer `  75,000 to staff gratuity fund.

(iv) To transfer `  60,000 to Development Rebate

Reserve.

(v) To transfer `  2,00,000 to Deferred Taxation

Reserve. Company’s capital consisted of 2,00,000

equity shares of `  10 each fully paid. Transfer

`  80,000 from exempt profit reserve account to

surplus account on 31st March, 2018. For the

year ending at  31st  March, 2018 Directors

transferred `  60,000 to dividend reserve and

`  50,000 to Debenture redemption fund account.

Corporate dividend tax is to be provided at

20.358%.

Show ‘Reserve and Surplus’ in Notes to Accounts.

26044/K/305 5 P. T. O.



,Dl fyfeVsM us 31 ekpZ] 2018 dks lekIr gksus okys o"kZ
ds fy, ßkl o djksa vkfn dh O;oLFkk djus ds ckn
` 18]00]000 dk ykHk vftZr fd;kA ` 2]80]000 ykHk
dh jkf'k fiNys o"kZ ls bl o"kZ yk;h xbZ FkhA dEiuh ds
lapkydkas us bl ykHk ds lek;kstu ds fy, fuEukafdr
fliQkfj'kas dh %

(i) ` 1]20]000 cksul ds :i eas dEiuh ds dEkZpkfj;ksa
dks nsukA

(ii) 10» dh nj ls lerk va'kks a ij ykHkka'k izLrkfor
djukA

(iii) ` 75]000 dEkZpkfj;ksa ds xzsP;qVh dks"k esa gLrkUrfjr
djukA

(iv) ` 60]000 fodkl NwV lap; esa gLrkUrfjr djukA

(v) ` 2]00]000 LFkfxr dj lap; esa gLrkUrfjr djukA
dEiuh dh dqy iw¡th esa ` 10 okys ` 2]00]000
lerk va'k Fks tks fd iw.kZnÙk FksA eqDr ykHk lap;
[kkrs (Exempt Profit Reserve A/c) ls ` 80]000
ykHkka'k forj.k ds mís'; ls 31 ekpZ] 2018 dks
Surplus Account eas gLrkUrfjr fd, x,A lapkydksa
us 31 ekpZ] 2018 dks lekIr gksus okys o"kZ ds fy,
` 60]000 ykHkka'k lap; esa gLrkUrfjr fd;k vkSj
` 50]000 ½.ki=k 'kks/u dks"k esa gLrkUrfjr fd;k
x,A dkWjiksjsV ykHkka'k dj ds fy, 20-358» dh nj
ls O;oLFkk dhft,A

26044/K/305 6



Notes to Accounts eas ‘Reserve and Surplus’ iznf'kZr
dhft,A

8. The Bharat Aluminium Co. Ltd. whose issued share

capital on 31st March, 2018 consisted of 12,000 8%

redeemable preference shares of `  100 each fully paid

up and 40,000 equity shares of  `  100 each `  80 paid

up, decided to redeem preference shares at a premium

of `  10 per share. The Company’s Balance Sheet as

at 31st March, 2018 showed a general reserve of

`  18,00,000 and a ‘Surplus’ of `  1,70,000. The

redemption was effected partly out of general reserve

and partly out of the proceeds of a new issue of

6,000, 7½ % cumulative preference shares of `  100

each at a premium of  `  25 per share. The premium

payable on redemption was met out of the premium

received on the new issue.

       On 1st July, 2018 the Company at its general

meeting resolved that entire balance of ‘Surplus’ and

part of the Revenue Reserves be applied in the

following manner :

(i) The declaration of bonus at the rate of  `  20 per

share on equity shares for the purpose of making

the said equity shares fully paid.

26044/K/305 7 P. T. O.
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(ii) The issue of bonus shares to the equity

shareholders in the rate of one share for every

four shares held.

You are required to pass necessary journal entries.

Hkkjr ,Y;wfefu;e da- fy- ftldh va'k iw¡th 31 ekpZ] 2018
esa 12]000] 8» 'kks/uh; iwokZf/dkj va'k ` 100 izR;sd iw.kZ
nÙk rFkk 40]000 lerk va'k ` 100 izR;sd ` 80 nÙk
lfEefyr] us iwoZkf/dkj va'kksa ds ` 10 izfr va'k izhfe;e ij
'kks/u dk fu.kZ; fy;kA 31 ekpZ] 2018 dks dEiuh ds
vk£Fkd fpV~Bs esa lkekU; lap; ` 18]00]000 dk rFkk `
1]70]000 dk vkf/D; (Surplus) izn£'kr FksA 'kks/u vkaf'kd
:i ls lkekU; lap; ls RkFkk vkaf'kd :i ls 6]000] 7½

lap;h iwokZf/dkj va'k ` 100 izR;sd ds ` 25 izfr va'k
izhfe;e ij fuxZeu ls fd;k tkuk FkkA 'kks/u ij ns; izhfe;e
dk fuxZeu ij izkIr izhfe;e ls iwjk fd;k tkuk FkkA

1 tqykbZ] 2018 dks dEiuh us viuh lkekU; lHkk esa izLrkfor
fd;k fd lEiw.kZ vkf/D; ,oa vkaf'kd :i ls vkxe lap;ksa
dks fuEu izdkj ls iz;ksx fd;k tkuk pkfg, %

(i) ` 20 izfr lerk va'k cksul dh ?kks"k.kk ftlls fd
lerk va'k iw.kZnr gks tk,A

(ii) lerk va'kf/kfj;ksa dks izfr pkj va'kks a ij ,d cksul
va'k dk fuxZeuA

vko';d tuZy izfof"V;k¡ ikfjr dhft,A
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9. The following is the Balance Sheet of X Ltd. as at

31st March, 2018 :

1. Equity & Liabilities :                    Amount (` )

Shareholder’s Funds :

Share Capital :

3,000, 5% Preference Shares of

`  100 each 3,00,000

6,000, Equity Shares of `  100 each 6,00,000

Surplus (3,50,000)

Non–Current Liabilities :

6% Debentures 1,50,000

Bank Loan 1,50,000

Current Liabilities :

Trade Payables 75,000

9,25,000

2. Assets :                                      Amount (` )

Non–Current Assets :

Land & Buildings 3,00,000

Machinery 4,50,000

Goodwill   22,500
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Current Assests :

Inventories 65,000

Trade Receivables 70,000

Cash & Bank    7,500

Current/Non–Current Assets :

Share Issue Expenses   10,000

 9,25,000

On the above date, the Company adopted the following

scheme of reconstruction :

(i) The perference shares are to be reduced to fully

paid shares of `  75 each and equity shares

are to be reduced to shares of `  40 each fully

paid.

(ii) The debentureholders took over lnventories and

Trade Receivables in full satisfaction of their

claims.

(iii) The Fictitious and Intangible assets are to be

eliminated.

(iv) The Land and Buildings to be appreciated by 30%

and Machinery to be depreciated by 33  %.

(v) Expenses of Reconstruction amounted to `  4,500.

1
3
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Give journal entries incorporating the above scheme

of reconstruction and prepare the reconstructed

Balance Sheet.

mijksDr frfFk dks dEiuh us fuEufyf[kr iqu£uekZ.k dh
;kstuk ykxw dh %

(i) iwokZf/dkj va'kks a dks ?kVk dj ` 75 izfr va'k iw.kZr;k
pqdrk dj fn;k tk,xk vkSj lEkrk va'kks a dks ?kVkdj
` 40 izfr va'k iw.kZr;k pqdrk dj fn;k tk,XkkA

(ii) ½.ki=k/kfj;ksa us viuh jkf'k ds iw.kZ Hkqxrku esa LVkWd
vkSj O;kikfjd izkI;rkvksa dks ys fy;kA

(iii) Ñf=ke ,oa vn`'; lEifÙk;ksa dks vifyf[kr dj fn;k
tk,xkA

(iv) Hkwfe ,oa Hkou dks 30» ls c<+k;k tk,xk rFkk
e'khujh dks 33 1

3 » ls de fd;k tk,xkA

(v) iqu£uekZ.k ds O;; ` 4]500 gq,A

iqu£uekZ.k dh mi;qZDr ;kstuk dks ykxw djus ds fy, tuZy
izfof"V;k¡ dhft, rFkk iqu% fuekZ.k ds i'pkr~ dk fLFkfr
fooj.k cukb,A



BCM/D-20

BUSINESS STATISTICS

26045

Paper - BC-302

Time allowed : 3 Hours Maximum Marks : 80

Note :Attempt questions in all. Question No. is

compulsory. Rest questions carry equal marks.

1. (i) Define Statistics. 5×4=20

(ii) Write short note on Mean Deviation.

(iii) Explain Base Shifting.

(iv) Explain briefly the additive model of Time

Series.

five 1

Compulsory Question

dqy iz'uksa ds mÙkj nhft, A iz'u la[;k

vfuok;Z gS A 'ks"k iz'uksa ds vad leku gS A

lkaf[;dh dks ifjHkkf"kr djsa A

eè; fopyu ij laf{kIr uksV fy•sa A

csl f'k¯ÝVx dh O;k[;k djsa A

ik¡p û

(vfuok;Z iz'u)

Roll No. ............................ Total Pages : 6
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Vkbe lhjht ds ,fMfVo ekWMy dks la{ksi esa

le>kb, A

ekud fopyu ds xq.k A

çkFkfed fof/;ksa ds laxzg esa mi;ksx fd, tkus okys

fofHkUu rjhdksa dks mudh xq.kksa vkSj voxq.kksa dks bafxr

djrs gq, le>k,a A

(v) Properties of Standard Deviation.

2. Explain the various methods that are used in the

collection of Primary Data pointing out their

merits and demerits. 15

3. The first and third quartiles of the following data

are given to be 25 marks and 50 marks

respectively out of the data given below :

Find the missing frequencies when N = 72. 15

Marks 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80

Frequ- 4 8 – 19 – 10 5 –

encies
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fuEufyf•r MsVk dh igyh vkSj rhljh prqFkk±'k Øe'k%

25 vad vkSj 50 vad uhps fn, x, MsVk esa ls fn, x, gSa %

vuqifLFkr vko`fÙk;ksa dk irk yxk,a tc ¾ 72-

th,e vkSj ,p,e ds fof'k"V mi;ksxksa ij ppkZ

djsa A

;fn fdlh oLrq dh dher 5 o"kZ dh vof/ esa

nksxquh gks tkrh gS] rks çfr o"kZ o`f¼ dk vkSlr

çfr'kr D;k gS \

vad 0&10 10&20 20&30 30&40 40&5050&60 60&7070&80

vko`fÙk  4 8 & 19 & 10 5 &

N

4. (i) Discuss the specific uses of GM and HM. 5

(ii) If the price of a commodity is doubled in the

period of 5 years, what is the average

percentage of increase per year ? 10

5. For a group containing 100 observations, the

Arithmetic mean and Standard deviation are 8

and 10.5. For 50 observations selected from the

100 observations, the mean and standard

Ö
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deviations are 10 and 2 respectively. Find the

Arithmetic mean and Standard deviations of the

other half. 15

6. What is Index Number ? What problems are

involved in construction of Index Numbers ? Give

different formulae of Index Numbers and state

which of these is best and why. 15

7. Construct the fixed base and chain base Index

Numbers from the following data : 15

100 voyksdu okys lewg ds fy,] vadxf.krh; ekè;

vkSj ekud fopyu 8 vkSj 10-5 gSa A 100 voyksduksa

esa ls p;fur 50 voyksduksa ds fy,] vkSlr vkSj ekud

fopyu Øe'k% 10 vkSj 2 gSa A nwljs vk/s ds

vadxf.krh; ekè; vkSj ekud fopyu dk irk

yxk,a A

lwpdkad la[;k D;k gS \ baMsDl uacjksa ds fuekZ.k esa D;k

leL;k,a 'kkfey gSa \ baMsDl uacjksa ds fofHkUu iQkWeZwys nsa

vkSj crk,a fd buesa ls dkSu lk lcls vPNk gS vkSj

D;ksa A

Ö
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fuEufyf•r MsVk ls fuf'pr vk/kj vkSj psu vk/kfjr

baMsDl uacjksa dk fuekZ.k djsa%

ewY; (#-@bdkbZ)

oLrq

Vkbe lhjht fo'ys"k.k esa ge D;k vè;;u vkSj

fo'ys"k.k djrs gSa \ Vkbe lhjht esa #>ku dk fu/kZj.k

djus ds fy, lcls de oxZ fof/ dk o.kZu djsa A

fuEufyf•r vkadM+ksa ls 4&okf"kZd ewfoax ,ojst dk

mi;ksx djds VªsaM oSY;w dh x.kuk djsa %

Price (Rs./Unit)

Commodity 1998 1999 2000 2001 2002

A 4 6 8 10 12

B 16 20 24 30 36

C 8 10 16 20 24

D 8 10 12 15 18

E 4 5 18 10 12

8. What do we study and analyse in the Time Series

Analysis ? Describe the least Square method for

determining trend in a Time Series. 15

9. Calculate trend values using 4-yearly moving

average from the following data :
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Also plot Trend values and Actual values on the

graph paper. 15

Year 1995 1996 1997 1998 1999 2000 2001 2002 2003 2004

Sales

(in Rs.

crores)

7 8 9 11 10 12 8 6 5 10

lky

fcØh

(djksM+

#- esa)

xzkiQ isij ij VªsaM oSY;w vkSj okLrfod ewY;ksa dks Hkh

n'kkZb,a A

26045/K/787/T 6



Roll No. ....................... Total Pages : 3

BCM/D-20 26046
BUSINESS LAWS-I

Paper–BC-303

Time : Three Hours] [Maximum Marks : 80

Note : Question No. 1 is compulsory. Attempt five questions in

all. Select four questions from the remaining eight

questions.

1. Compulsory Question  ( ) :

Answer the following in short :

(a) What is meant by coercion?

(b) State various agreements expressly declared as void.

(c) Can a minor be appointed as an agent?

(d) Describe the Circumstances when a surety will be

discharged from his liability.

(e) Distinguish between Sale and Agreement to Sell. (20)

26046/PDF/KD/1514 [P.T.O.



2. Explain the essentials of a Valid Contract. Also distinguish

between Void and Voidable contract. (15)

3. Define Consideration. Which agreements are contracts

even though without Consideration. Does an agreement

become void merely because consideration is inadequate?

Give reasons. (15)

4. What Constitute performance? Explain the law regarding

the person by whom the contract must be performed?

(15)

5. What do you understand by contracts of Guarantee?

Distinguish between a contract of indemnity and that of

guarantee. (15)

26046/00/KD/1514 2
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6. What are the essential elements of bailment? Explain different

kinds of bailment. (15)

7. Explain the term Delivery and state the rules regarding

valid delivery of goods. (15)

8. What are the remedies available to buyer and seller at the

breach of contract of sale? Discuss. (15)

9. What do you mean by consumer protection? What are the

various type of consumer exploitations? (15)



BCM/D-20

COMPANY LAW-I

five 1

26047

Paper - BC-304

Attempt questions in all. Question No. is

compulsory. Rest questions carry equal marks.

Time allowed : 3 Hours Maximum Marks : 80

Note :

dqy iz'uksa ds mÙkj nhft, A iz'u la[;k

vfuok;Z gS A 'ks"k lHkh iz'uksa ds vad leku gS A

ik¡p û

Compulsory Question (vfuok;Z iz'u)

1. Write short notes upto one page on the following :

(i) Company is a separate legal entity.

Elucidate. 4

fuEufyf[kr ij ,d i`"V rd laf{kIr fVIi.kh;k¡

fyf[k, %

dEiuh ,d i`Fkd oS/kfud lÙkk gS A izdk'k

Mkfy, A

Roll No. ............................ Total Pages : 4

26047/K/306 P.T.O.



(ii) How many maximum number of members

can a private company have ? 4

(iii) What are ‘Article of Association’ ? 4

(iv) What is letter of Allotment ? 4

(v) What is share certificate ? 4

2. What do you mean by Lifting of Corporate Veil ?

In what circumstances the corporate veil is

lifted ? 15

3. Define a promoter and discuss his legal and

fiduciary position. 15

,d futh dEiuh esa lnL;ksa dh vf/dre la[;k

fdruh gks ldrh gS \

ik"kZn~ var£u;e D;k gS \

vkcaVu i=k D;k gS \

va'k izek.k&i=k D;k gksrk gS \

fuxeh; vkoj.k ds vukoj.k ls vkidk D;k vfHkizk;

gS\ fdu ifjfLFkfr;ksa esa ;g vkoj.k gV ldrk gS\

izorZd dks ifjHkkf"kr dhft, rFkk mldh oS/kfud rFkk

fo'oklkf{kr fLFkfr dh foospuk dhft, A

26047/K/306 2



4. Discuss the importance of object clause of

memorandum. When object clause can be

altered ? Explain the procedure of alteration of

object clause. 15

5. Define prospectus and explain its contents. Under

what circumstances company need not to issue

prospectus ? 15

6. What is share capital? What is its nature?

Explain the different forms of capital. 15

7. Write meaning and characteristics of debenture.

Explain different types of debenture. 15

ik"kZn~ lhekfu;e ds mís'; okD; dh egÙo dh foospuk

dhft, A mís'; okD; esa ifjorZu dc fd;k tk ldrk

gS \ mís'; okD; esa ifjorZu dh izfØ;k dk o.kZu djsa A

izfooj.k dks ifjHkkf"kr dhft, rFkk blds rRoksa dk o.kZu

dhft, A fdu ifjfLFkfr;ksa esa dEiuh dk izfooj.k

fuxZfer djus dh vko';drk ugha gksrh \

va'kiw¡th D;k gS\ bldh izd`fr D;k gS\ iw¡th ds fofHkUu

izdkjksa dk o.kZu dhft, A
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Í.k&i=k dh ifjHkk"kk ,oa fo'ks"krk,a fyf[k, A fofHkUu

izdkj ds Í.k&i=kksa dks le>kb, A

va'kksa ds gLrkadu dk D;k vfHkizk; gS \ va'kksa ds

gLrkadu ls lacaf/r oS/kfud izko/ku D;k gSa \

,d dEiuh dh Í.k ysus dh 'kfDr;ksa dh foLr`r

O;k[;k dhft, A

8. What is meant by transmission of shares ? What

are the statutory provisions regarding

transmission of shares ? 15

9. Explain in detail, the borrowing power of a

company. 15

26047/K/306 4
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INDIAN FINANCIAL SYSTEM

26048

Paper - BC-305

Attempt five questions in all. Question No. 1 is

compulsory.

Time allowed : 3 Hours Maximum Marks : 80

Note :

dqy ik¡p iz'uksa ds mÙkj nhft, A iz'u la[;k 1

vfuok;Z gS A

Compulsory Question (vfuok;Z iz'u)

1. Write short notes on the following :

(i) Initial Public Offering (IPO)

(ii) Certificate of Deposits (CDs)

(iii) Foreign Currency Convertible Bonds (FCCBs)

FCCBs

fuEufyf[kr ij NksVs uksV fy[ksa %

vkjafHkd lkoZtfud is'kd'k (vkbZihvks)

tek (lhMh)

fons'kh eqæk ifjorZuh; ckaM ( )

çek.ki=k

Roll No. ............................ Total Pages : 4
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(iv) Automatic Teller Machine (ATM)

(v) Non-performing Assets (NPAs).

NPAs

2. What is Indian Financial System? Discuss the

significant developments in Indian Financial

System.

3. Distinguish between Money Market and Capital

Market. Explain the latest developments in both

the markets.

4. What do you mean by Primary market ? Discuss

the main Problems of Indian Primary market.

Lopkfyr VSyj e'khu (,Vh,e)

ukWu&ijiQkWfe±x ,lsV~l ( )-

Hkkjrh; foÙkh; ç.kkyh D;k gS \ Hkkjrh; foÙkh; ç.kkyh

ds egRoiw.kZ fodklksa ij ppkZ djs aA

eqæk cktkj vkSj iwath cktkj ds chp varj A nksuksa cktkjksa

esa uohure fodkl dh O;k[;k djsa A

çkFkfed cktkj ls vkidk D;k rkRi;Z gS \ Hkkjrh;

çkFkfed cktkj dh eq[; leL;kvksa ij ppkZ djsa A

26048/K/768/T 2



5. What is the Secondary market ? Discuss the

procedure to deal in Indian Secondary market.

6. What is the SEBI ? How SEBI is protecting the

interests of investors ?

7. Define Credit Creation. How do commercial

banks create credit in the economy ? Discuss.

8. Define the term E-banking. Describe different

ways of doing E-banking. Also discuss the

importance of E-banking during Covid19.

Covid19

lsd.Mjh cktkj D;k gS \ ekè;fed cktkj esa

fuiVus ds fy, çfØ;k ij ppkZ djsa A

lsch D;k gS \ lsch fuos'kdksa ds fgrksa dh j{kk dSls dj

jgk gS \

ØsfMV fuekZ.k dks ifjHkkf"kr djsa A okf.kfT;d cSad dSls

vFkZO;oLFkk esa ØsfMV cukrs gSa \ ppkZ djsa A

bZ&cSafdax 'kCn dks ifjHkkf"kr djsa A bZ&cSafdax djus ds

fofHkUu rjhdksa dk o.kZu djsa A ds nkSjku

bZ&cSafdax ds egRo ij Hkh ppkZ djsa A

lsd.Mjh

26048/K/768/T 3 P.T.O.



9. What do you mean by a Development Bank ?

Discuss various recent developments in

Development banking in India.

fodkl cSad ls vkidk D;k vfHkçk; gS \ Hkkjr esa

fodkl cSafdax ds gkfy;k fodklksa ij ppkZ djsa A

26048/K/768/T 4
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RURAL MARKETING

five 1

Compulsory Question

26049

Paper–BC-306(i)

Attempt questions in all. Question No. is

compulsory.

1. Write short note on the following : 5×4=20

Time allowed : 3 Hours Maximum Marks : 80

Note :

dqy ç'uksa ds mÙkj nhft, A iz'u la[;k

vfuok;Z gS A

ik¡p û

(vfuok;Z iz'u)

(i) Main problems faced by rural marketer.

(ii) Role of cultural factors in rural consumer

Behaviors.

fuEu ij y?kq uksV fy[ks %

xzkeh.k foi.kudrkZ ds lkeus eq[; leL;k,a A

xzkeh.k miHkksDrk O;ogkj esa lakLd`frd dkjdksa dh

Hkwfedk A

Roll No. ............................ Total Pages : 4

26049/K/307 P.T.O.



(iii) Factors affecting Rural marketing mix.

(iv) RFID

(v) E-choupal.

4. Define rural consumer behaviour. What are

difficulties in understanding rural consumer

behaviours Give examples. 15

2. Define Rural marketing. Discuss the factors

which attracted the marketers to rural India. 15

3. What is Rural marketing environment Why do

marketers study rural marketing environment.

15

xzkeh.k foi.ku fe=k.k dks izHkkfor djus okys rRo

vkj ,iQ vkbZ Mh

bZ&pkSiky A

xzkeh.k foi.ku dh ifjHkk"kk nhft, A mu lHkh dkjdks

dh ppkZ djsa tks foi.kudrkZvksa dks xzkeh.k Hkkjr dh

rjiQ vkdf"kZr djrs gSa A

xzkeh.k foi.ku okrkoj.k D;k gS \ foi.kudrkZ xzkeh.k

foi.ku okrkoj.k dk vè;;u D;ksa djrs gS A

26049/K/307 2



5. Discuss various bases of rural market

segmentation with suitable examples. 15

7. What is personal selling ? Discuss qualities of a

good sales-man in rural market. 15

6. What is rural marketing mix ? Design a rural

marketing mix for any consumer durable and

justify your answer. 15

8. Write a detailed note on various initiatives taken

by Government of India in rural markets. 15

xzkeh.k miHkksDrk O;ogkj dks ifjHkkf"kr djsa A xzkeh.k

miHkksDrk O;ogkj dks le>us esa D;k leL;k,a gSa A

mnkgj.k nhft, A

xzkeh.k foi.ku feJ.k D;k gS \ fdlh Hkh ,d miHkksDrk

fVdkÅ mRikn ds fy, xzkeh.k foi.ku feJ.k dks

fMtkbu djsa rFkk vius mÙkj dks Li"V djsa A

O;fDrxr foØ; D;k gS \ ,d vPNs foØ;dÙkkZ ds xq.kksa

dks xzkeh.k cktkj dh n`f"V ls o.kZu djsa A

mi;qDr mnkgj.kksa lfgr xzkeh.k cktkj fofHkfDrdj.k ds

vk/kjksa dh O;k[;k djsa A

26049/K/307 3 P.T.O.



xzkeh.k cktkjksa esa Hkkjrh; ljdkj }kjk viuk, x,

fofHkUu izsjdksa ij ,d uksV fy[ksa A

bZ&dkelZ D;k gS \ xzkeh.k cktkj esa bZ&dkelZ ds D;k

ykHk gSa\

9. What is e-commerce ? What are the benefits of

e-cemmerce in rural marketing ? 15

26049/K/307 4
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Roll No. ......................... Total Pages : 4

BCM/D-20 26050

FOREIGN TRADE OF INDIA

Paper–BC-306

Opt.–(ii)

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is

compulsory. Rest questions carry equal marks.

dqy ik¡p iz'uksa ds mÙkj nhft,A iz'u la[;k 1

vfuok;Z gSA 'ks"k iz'uksa ds vad leku gSaA

Compulsory Question (vfuok;Z iz'u)

1. Write short notes on the following : 5×4=20

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, %

(a) What are INCOTERMS?

budksVElZ D;k gksrh gSa\

(b) Special Economic Zone (SEZ).

fo'ks"k vk£Fkd {ks=kA

(c) What do you mean by Licensing and Franchising?

Ykk,lsā lx ,oa izasQpk,¯”kx ls vki D;k le>rs gSa\
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(d) Letter of Credit.

lk[k i=kA

(e) Special Drawing Rights (SDRs)

fo'ks"k vkgj.k vf/dkjA

2. Elucidate the main features of Indian Foreign Trade.

What types of problems are being faced by Indian

Foreign Trade? 6,9

Hkkjrh; fons'kh O;kikj dh eq[; fo'ks"krkvksa dh O;k[;k
dhft,A Hkkjrh; fons'kh O;kikj fdl izdkj dh leL;kvksa dk
lkeuk dj jgk gS\

3. “Choise of Entry Mode in Foreign Market is a strategic

decision for International Business Unit.” In the light

of this statement, discuss the various modes of Entry

into International Business. 15

¶varjkZ"Vªh; O;kikfjd bdkbZ dk fons'kh cktkj ds izos'k ds
rjhds dk p;u ,d lekfjd fu.kZ; gSA¸ bl dFku ds
vk/kj ij varjkZ"Vªh; O;kikj esa izos'k ds fofHkUu rjhdksa ij
fopkj foe'kZ dhft,A

4. Explain in detail various methods of Payment in

International Trade. 15

varjkZ"Vªh; O;kikj esa Hkqxrku ds fofHkUu rjhdksa dh foLrkj
ls O;k[;k dhft,A
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5. What is the concept of New Product Development

in International Marketing? Explain in detail the

various stages in the process of New Product

Development. 3,12

varjkZ"Vªh; O;kikj esa uo&mRikn fodkl dh vo/kj.kk D;k
gS\ uo&mRikn fodkl dh izfØ;k dh fofHkUu voLFkkvksa
dh foLrkj ls O;k[;k dhft,A

6. What do you mean by EXIM Policy? Discuss main

objectives and features of New EXIM Policy

(2015-20 A.D.) of India. 3,6,6

vk;kr&fu;kZr fufr ls vki D;k le>rs gSa\ Hkkjr dh ubZ
vk;kr&fu;kZr fufr (2015&20 bZ-) ds eq[; mís'; rFkk
fo'ks"krkvksa ij fopkj foe'kZ dhft,A

7. What are Special Economic Zones? State the

incentives and facilities offered to the Developers

and Business Units in Special Economic Zones.

3,12

fo'ks"k vk£Fkd {ks=k D;k gksrs gSa\ fo'ks"k vk£Fkd {ks=k esa
fodkldrkZvksa rFkk O;kikfjd bdkbZ;ksa dks iznku dh tkus okyh
NwVksa rFkk lqfo/kvksa dks crkb,A

8. What are the eligibility criteria for Star Trading

Houses? What benefits are available for Star Trading

Houses in India? 6,9



LVkj O;kikfjd x`g ds fy, ik=krk&ekun.M D;k gSa\ Hkkjr
esa LVkj O;kikfjd x`g ds fy, dkSu&dkSu lh lqfo/k,¡ miyC/
gSa\

9. What is IMF? Indicate the main Objectives of IMF.

Has its membership been beneficial to India? Explain.

3,7,5

varjkZ"Vªh; eqnzk dks"k D;k gSa\ varjkZ"Vªh; eqnzk dks"k ds eq[;
mís'; crkb, D;k bldh lnL;rk Hkkjr ds fy, ykHkdkjh
jgh gS\ O;k[;k dhft,A

26050/K/308 4
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Roll No. ......................... Total Pages : 3

OBCM/D-20 26062
DATA STRUCTURE

Paper–BC(VOC)-305

Time Allowed : 3 Hours] [Maximum Marks : 60

Note : Attempt five questions in all. Question No. 1 is

compulsory. Rest questions carry equal marks.

dqy ik¡p iz'uksa ds mÙkj nhft,A iz'u la[;k 1

vfuok;Z gSA 'ks"k iz'uksa ds vad leku gSaA

Compulsory Question (vfuok;Z iz'u)

1. (a) What is Data structure? Give examples of Linear

and Nonlinear Data structure. 4

MsVk lajpuk D;k gS\ jSf[kd vkSj vjs[kh; MsVk lajpuk
dk mnkgj.k nhft,A

(b) What is Stack Data structure? Where is Stack

used in Data structure? 4

LVSd MsVk lajpuk D;k gS\ MsVk lajpuk esa LVSd dk
mi;ksx dgka fd;k tkrk gS\

(c) What is Double queue and its advantages? 4

nksgjh drkj D;k gS vkSj blds D;k iQkbns gSa\
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(d) What is Circular linked list and its advantages?

4

ifji=k ls tqM+h lwph D;k gS vkSj blds D;k iQkbns gSa\

(e) What is the difference between Data structure

and File structure? 4

lwph lajpuk vkSj lajpuk ds chp D;k varj gS\

2. How do I find the address of a 2D-array? Find the

address of this array row-wise and column-wise--10.

10

eq>s 2D&lkj.kh dk irk dSls feysxk\ iafÙkQ&okj vkSj dkWye&okj
10 dk irk yxkb,A

3. Write an algorithm to insert Data in a Queue. 10

,d drkj esa lwph lfEefyr djus ds fy, ,d dyu fof/
fyf[k,A

4. Write an algorithm to insert Data in a Singly linked

list. 10

lwph dks ¯lxyh ¯yDM lwph esa lfEefyr djus ds fy, ,d
dyu fof/ fyf[k,A

5. What are the types of Files used in an Organization

system? Explain Sequential access file Organization

in detail with advantages and disadvantages. 10
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,d laxBu iz.kkyh esa mi;ksx dh tkus okyh iQkbysa fdl
izdkj dh gksrh gSa\ vuqØfed igq¡p iQkby laxBu dh YkkHk
,oa gkfu;ksa lfgr foLRk`r O;k[;k dhft,A

6. What do you mean by Multilist file Organisation in

Data structure and its advantages? 10

lwph lajpuk vkSj blds iQk;ns cgqlwph iQkby laxBu ls
vkidk D;k vfHkizk; gS\

7. What are the advantages and disadvantages of Indexed

sequential access file organization and its architecture?

10

vuqØfed ,Dlsl iQkby laxBu vkSj bldh okLrqdyk ds
iQk;ns vkSj uqdlku D;k gSa\

8. What is Circular queue? Explain it with the help of

example. What are its advantages? 10

o`Ùkkdkj drkj D;k gS\ bls mnkgj.k dh enn ls le>kb,A
blds D;k ykHk gSa\

9. What is Static and Dynamic Data structure? What

are properties of B tree? 10

fLFkj vkSj xfr'khy lwph lajpuk D;k gS\ ch Vªh ds D;k
xq.k gSa\



26063/K/853/T P. T. O.

Roll No. ......................... Total Pages : 3

BCM/D-20 26063

FUNDAMENTALS OF DATABASE

MANAGEMENT SYSTEM

Paper–BC(VOC)-306

Time Allowed : 3 Hours] [Maximum Marks : 60

Note : Attempt five questions in all. Question No. 1 is

compulsory. Rest questions carry equal marks.

dqy ik¡p iz'uksa ds mÙkj nhft,A iz'u la[;k 1

vfuok;Z gSA 'ks"k iz'uksa ds vad leku gSaA

Compulsory Question (vfuok;Z iz'u)

1. Answer the following questions in brief : 5×4=20

fuEufyf[kr iz'uksa ds laf{kIr mÙkj fyf[k, %

(a) Write short note on Network model.

usVodZ ekWMy ij laf{kIr uksV fyf[k,A

(b) Explain the difference between :

chp ds varj dks Li"V dhft, %

(i) Entity and Attribute

bdkbZ vkSj fo'ks"krk
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(ii) Entity type and Entity set.

bdkbZ izdkj vkSj bdkb lsVA

(c) Explain the use of Break clause.

czsd DykWt dk mi;ksx crkb,A

(d) What do you mean by Update anomaly?

v|ru folaxfr ls vkidk D;k vfHkizk; gS\

(e) What is View? Explain the advantages of view.

utfj;k D;k gS\ utkfj, ds iQkbns crkb,A

2. What do you mean by DBMS? Discuss in detail the

role of a Database Administrator. 10

Mhch,e,l ls vkidk D;k vfHkizk; gS\ MsVkcsl O;oLFkkid
dh Hkwfedk ds ckjs esa foLrkj ls ppkZ dhft,A

3. Take an example where relation is in 3NF, but not

in BCNF. What problem may occur in insertion,

deletion and modification in this table? Suggest

possible solution of these problems also. 10

,d mnkgj.k yhft, tgka laca/ 3NF esa gS] ysfdu BCNF

eas ugha gSA bl rkfydk esa izfof"V] foyksiu vkSj la'kks/u esa
D;k leL;k gks ldrh gS\ bu leL;kvksa dk laHko lek/ku
Hkh lq>kb,A



26063/K/853/T 3

4. Explain E-R model using suitable example. 10

mi;qÙkQ mnkgj.k dk mi;ksx djds bZ&vkj ekWMy dh O;k[;k
dhft,A

5. Explain the concept of Functional and Transitive

dependencies with example. 10

mnkgj.k ds lkFk dk;kZRed vkSj ldeZd fuHkZjrk dh
vo/kj.kk dks le>kb,A

6. What is a Package? What are its important

components? Create a package and explain its

working. 10

iSdst D;k gS\ blds egÙoiw.kZ ?kVd D;k gSa\ ,d iSdst
cukb, vkSj mlds dk;Z dh O;k[;k dhft,A

7. What is Database link? How do you create Database

link in another schema? 10

MsVkcsl ¯yd D;k gS\ vki fdlh vU; Ldhek esa MsVkcsl
¯yd dSls cukrs gSa\

8. Describe DML statements with example. 10

mnkgj.k ds lkFk Mh,e,y c;ku dk o.kZu dhft,A

9. Explain Oracle architecture. 10

vdk'kok.kh okLrqdyk dh O;k[;k dhft,A
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Roll No. ......................... Total Pages : 3

BCM/D-20 26064

OFFICE PRACTICE AND COMMUNICATION

Paper–OMSP-BC(VOC)-305

Time Allowed : 3 Hours] [Maximum Marks : 60

Note : Attempt five questions in all. Question No. 1 is

compulsory. Rest questions carry equal marks.

dqy ik¡p iz'uksa ds mÙkj nhft,A iz'u la[;k 1

vfuok;Z gSA 'ks"k iz'uksa ds vad leku gSaA

Compulsory Question (vfuok;Z iz'u)

1. Write short notes on following not more than one

page of each short question :

fuEufyf[kr izR;sd laf{kIr iz'u ij ,d i`"B ls vf/d
laf{kIr mÙkj ugha nhft, %

(a) Centralization of Office services 4

dk;kZy;h lsokvksa dk dsnzh;dj.k

(b) Decentralized filing 4

fodsanzho`Qr uLrhdj.k

(c) Accounting machines 4

ys[kkadu e'khusa
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(d) Malware protection 4

ekyos;j lqj{kk

(e) Biometric attendance machine. 4

thoferh; mifLFkfr e'khuA

2. What do you mean by Decentralized Office? Discuss

the importance of Decentralized Office. 4,6

fodsanzho`Qr dk;kZy; ls vkidk D;k rkRi;Z gS\ fodsanzho`Qr
dk;kZy; ds egÙo dk o.kZu dhft,A

3. Discuss equipments required for Vertical Filing

system in an Office. 10

dk;kZy; esa 'kh"kZ iQkb¯yx i¼fr gsrq vko';d midj.kksa dk
o.kZu dhft,A

4. What is a Dictaphone? How is it useful for Office

Manager and one’s Secretary in Modern office? What

is the future of Dictaphone in paperless office?

2,3,3,2

Jqrokpd ;a=k D;k gS\ vk/qfud dk;kZy; esa ;g dk;kZy;
izca/d rFkk mlds lfpo gsrq dSls mi;ksxh gS\ dkxt&jfgr
dk;kZy; esa Jqrokpd ;a=k dk D;k Hkfo"; gS\

5. Evaluate the use of Duplicator in an Office. What is

the utility of Duplicator in Computerized office in

future? 10
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dk;kZy; esa cgqizfrfyfidj.k ;a=k ds mi;ksx dk ewY;kadu
dhft,A Hkkoh oaQI;wVjho`Qr dk;kZy; esa cgqizfrfyfidj.k ;a=k
dh D;k mi;ksfxrk gS\

6. Discuss Communication skills required for Telephone

handling in Office. 10

dk;kZy; esa nwjHkk"k laHkkyus gsrq vko';d laizs"k.k dkS'ky dk
o.kZu dhft,A

7. What is Computer Hardware? Name and explain

Hardware components required in an office. 10

oaQI;wVj gkMZos;j D;k gS\ dk;kZZy; es vfuok;Z gkMZos;j
midj.kksa dk ukeksYys[k djrs gsrq le>kb,A

8. Explain the importance and application of Word

processor in an Office. 10

,d dk;kZy; esa 'kCn lalk/u dk egÙo vkSj vuqiz;ksx
le>kb,A

9. “An Office may be regarded as place where control

mechanisms for an Organization are located.” Comment

and describe important of a modern business office.

5,5

¶dk;kZy; og LFkku ekuk tk ldrk gS tgk¡ laxBu dh
rduhd fLFkRk gSaA¸ bl dFku foospuk dhft, rFkk ,d
vk/qfud O;kolkf;d dk;kZy; ds egÙo dk o.kZu dhft,A
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Roll No. ......................... Total Pages : 3

BCM/D-20 26065

TYPEWRITING THEORY (ENGLISH)

Paper–OMSP–BC(VOC)-306

Time Allowed : 3 Hours] [Maximum Marks : 60

Note : Attempt five questions in all. Question No. 1 is

compulsory.

dqy ik¡p iz'uksa ds mÙkj nhft,A iz'u la[;k 1

vfuok;Z gSA

Compulsory Question (vfuok;Z iz'u)

1. (a) Explain Erasing and Correcting. 5×4=20

feVkus vkSj Bhd djus dks le>kb,A

(b) Write a short note on Squeezing and Spreading.

floqQM+u vkSj iSQyko ij ,d laf{kIr fVIi.kh fyf[k,A

(c) Why stencil is important?

LVSafly D;ksa egÙoiw.kZ gS\

(d) What is Carbon Paper?

dkcZu isij D;k gS\

(e) Write the role of Eraser shield.

bjstj 'khYM dk dk;Z fyf[k,A
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2. What is Stencil? Explain the method of Stencil cutting.

10

LVsafly D;k gS\ LVsafly d¯Vx dh fof/ dh O;k[;k dhft,A

3. What steps should be taken to make use of Carbon

Papers? 10

dkcZu isij dk iz;ksx djrs le; fdu&fdu pj.kksa dk è;ku
j[kuk pkfg,\

4. What is the difference between Duplicating and

Copying? 10

cgqizfrfyfidj.k vkSj izfrfyfidj.k esa D;k varj gS\

5. Write a detailed note on the Classification of Carbons.

10

dkcZu ds oxhZdj.k ij ,d foLr`r fVIi.kh fyf[k,A

6. What do you mean by Stencil duplicator? Explain in

detail. 10

LVsafly MqIyhdsVj ds ckjs esa vki D;k tkurs gSa\ foLrkjiwoZd
fyf[k,A

7. Define the different ways of Correcting Errors on

Stencil. 10
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LVsafly esa gksus okyh v'kqf¼;ksa dks Bhd djus dh fofHkUu
fof/;ksa dk o.kZu dhft,A

8. Write short notes on the following : 5×2=10

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, %

(a) Use of Eraser

bjstj dk mi;ksx

(b) Use of Correcting Fluid.

ÝywbM djs̄ DVx dk mi;ksxA

9. Write a letter to M/s Webcom Computers, Sadar

Bazari, New Delhi for the supply of 100 Computer

Moniter of Acer @ ` 5,000/- each 100 keyboards of Acer

@ `  3,000/- each, 100 CPU (Pentium-4) of Acer @

`  10,000/- each and 100 pieces of optical mouse @

`  1,000/- each and send a bill including GST &

Freight charges. 10

eSllZ Webcom Computers] lnj cktkj] ubZ fnYyh dks
100 oaQI;wVj ekWuhVj izR;sd ` 5]000] 100 dh cksMZ izR;sd

` 3]000 izfr CPU izR;sd ` 10]000 ,oa 100 ekÅl izR;sd

` 1]000 ds fglkc ls nsus ds fy, vkSj mudk fcy ftlesa
GST  vkSj okgu fdjk;k Hkh 'kkfey gS ds fy, i=k fyf[k,A



BCM/D-20

FIRE INSURANCE

five 1

Compulsory Question

26066

Paper–BC(VOC)-305

Attempt questions in all. Question No. is

compulsory.

1. Describe the following in reference to fire

insurance policy : 4×5=20

(i) Conditions of fire insurance policies.

(ii) Steps in rate fixation in fire insurance.

Time allowed : 3 Hours Maximum Marks : 60

Note :

dqy iz'uksa ds mÙkj nhft, A iz'u la[;k vfuok;Z

gS A

ik¡p û

vfXu chek ikWfylh ds lanHkZ esa fuEufyf•r dk o.kZu

djsa %

vfXu chek ikWfylh dh 'krsZ± A

vfXu chek esa nj fu/kZj.k ds pj.k A

Roll No. ............................ Total Pages : 6

26066/K/555/T P.T.O.



(iii) Procedure to settle the fire insurance

claim.

(iv) Describe the period of fire insurance

policy.

(v) Legal issues in fire insurance.

2. Explain the concept and features of Fire

Insurance Contract. What are various risks and

hazards covered under it? 10

3. What is the Procedure to insure the property

under fire insurance? Explain in detail. 10

vfXu chek nkos dks fuiVkus dh çfØ;k A

vfXu chek ikWfylh dh vof/ crkb, A

vfXu chek esa dkuwuh eqís A

iQk;j ba';ksjsal dkWUVªSDV dh vo/kj.kk vkSj fo'ks"krk,a

crk,aA blds varxZr vkus okys fofHkUu tksf•e vkSj

•rjs D;k gSa \

vfXu chek ds rgr laifÙk dk chek djus dh çfØ;k

D;k gS \ foLrkj ls O;k[;k dhft, A

26066/K/555/T 2



4. Write notes on : 10

(i) Principle of indemnity.

(ii) Start-up expenses under fire insurance.

(iii) Losses excluded under Riot, Strike and

Malicious damage cover.

5. Explain the following in brief : 10

(i) Progress of fire insurance in India.

(ii) Reinsurance and Double insurance.

(iii) Standard Peril policy Renewal of fire policies.

fuEu ij uksV fy•sa %

{kfriwfrZ dk fl¼kar A

vkx chek ds rgr LVkVZ&vi •pZ A

naxk] gM+rky vkSj nqHkkZoukiw.kZ {kfr doj ds rgr

gkfu 'kkfey ughaA

la{ksi esa fuEufyf•r dh O;k[;k djsa %

Hkkjr esa vfXu chek dh çxfr A

iquchZek vkSj nksgjk chek A

ekud ladV uhfr] vfXu ikWfylh dk uohuhdj.k A

26066/K/555/T 3 P.T.O.



(iv) Principle of Proxa de causa.

6. Identify and briefly comment on Four (4) factors

that influence the rate charged for fire insurance

on mercantile or industrial building. Also discuss

the use of Deferred Payment clause. in fire

policies. Identify the type of risk where the most

common example of deferred payment clause is

used. 10

7. Describe the practice of fire insurance in India

regarding coverage of loss by fire and other perils

included in ‘Standard Fire and allied Perils

Policy.’ 10

çkWDlk Ms dkslk dk fl¼kar A

igpkusa vkSj la{ksi esa pkj (4) dkjdksa ij fVIi.kh djsa

tks eds±Vkby ;k vkS|ksfxd Hkou ij vfXu chek ds fy,

pktZ dh xbZ nj dks çHkkfor djrs gSaA iQk;j ikWfylh esa

LFkfxr Hkqxrku DykWt ds mi;ksx ij Hkh ppkZ djsa A

tksf•e ds çdkj dh igpku djsa tgka lcls vke

LFkfxr Hkqxrku DykWt dk mi;ksx mnkgj.kkFkZ fd;k tkrk

gS A
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^LVSaMMZ iQk;j ,aM vykbM isfjy ikWfylh* esa 'kkfey

vkx vkSj vU; •rjksa ls uqdlku ds dojst ds ckjs esa

Hkkjr esa vfXu chek ds pyu dk o.kZu djsaA

D;k iQk;j ba';ksjsal ikWfylh lkSaih tk ldrh gS\ blds

laHkkfor dkj.kksa dk mYys• djsaA jsftMsaf'k;y csfld

iQkWeZ ds laca/ esa] dojst lkjka'k ds mís'; dh O;k[;k

djsa vkSj ;g dSls mís'; dks çkIr djrk gS A

iQk;j ba';ksjsal ds lanHkZ esa fuEufyf•r crk,a %

thvkbZlh dh dksbZ Hkh nks çdkj dh vfXu chek

ikWfylh

8. Can Fire Insurance Policy be assigned ? Mention

the probable reasons for it. With respect to the

Residential Basic Form, explain the purpose of

the Coverage Summary and how it achieves the

purpose. 10

9. Explain the following in reference to Fire

Insurance : 10

(i) Any two types of fire insurance policies of

GIC

26066/K/555/T 5 P.T.O.



(ii) Inspection and termination of coverage.

(iii) Hazards not covered.

dojst dk fujh{k.k vkSj lekfIr A

•rjksa dks doj ugha fd;k x;k A

26066/K/555/T 6
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Roll No. ......................... Total Pages : 4

BCM/D-20 26067

INSURANCE BUSINESS REGULATIONS

Paper–BC(VOC)-306

Time Allowed : 3 Hours] [Maximum Marks : 60

Note : Attempt five questions in all. Question No. 1 is

compulsory. Rest questions carry equal marks.

dqy ik¡p iz'uksa ds mÙkj nhft,A iz'u la[;k 1

vfuok;Z gSA 'ks"k iz'uksa ds vad leku gSaA

Compulsory Question (vfuok;Z iz'u)

1. Write short answer on the following : 5×4=20

fuEufyf[kr ij laf{kIr mÙkj nhft, %

(a) Duties and powers of Controller of Insurance

under Insurance Act, 1938.

chek vf/fu;e] 1938 ds v/hu chek fu;U=kd ds
drZO; vkSj 'kfDr;k¡ A

(b) Functions of the Life Insurance Corporation

under its Act.

vf/fu;e ds varxZr thou chek fuxe ds dk;ZA
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(c) Micro Insurance.

y?kq chekA

(d) Scope of Motor Vehicle Act, 1988.

eksVj okgu vf/fu;e] 1988 dk nk;jkA

(e) Salient features of Employee State Insurance

Act.

deZpkjh jkT; chek vf/fu;e dh eq[; fo'ks"krk,¡A

2. Discuss in brief the provision of IRDA Act, 1999

regarding composition, duties, powers and functions

of Authority. 10

IRDA vf/fu;e] 1999 ds izko/kuksa ds rgr IRDA  ds
la;kstu] dÙkZO;ksa] 'kfDr;ksa rFkk dk;ks± dk laf{kIr o.kZu
dhft,A

3. Explain in detail Licensing of Insurance Agents under

the provisions of the Insurance Act, 1938. 10

chek vf/fu;e] 1938 ds varxZr chek ,tsaV ds ykblsal
lEcU/h izko/kuksa dk o.kZu dhft,A

4. Define the Audit and Supervision. What are the

provisions of Insurance Act, 1938 regarding Audit

and Supervision? 10
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vaosQ{k.k rFkk fujh{k.k dks ifjHkkf"kr dhft,A chek vf/fu;e]
1938 vaosQ{k.k rFkk fujh{k.k laca/h izko/kuksa dh O;k[;k
dhft,A

5. Explain in detail the satient features of Life Insurance

corporation of India Act, 1956. 10

Hkkjrh; thou chek vf/fu;e] 1956 dh izeq[k fo'ks"krkvksa
dk foLr`r o.kZu dhft,A

6. Explain the important features of Export Credit and

Guarantee Corporation Act and its significance. 10

fu;kZr ½.k vkSj xkjaVh fuxe vf/fu;e dh egÙoiw.kZ
fo'ks"krkvksa vkSj blds egÙo dks le>kb,A

7. Explain the need and importance of Consumer

Protection. What are the main elements of Consumer

Protection Act, 1986 ? 10

miHkksÙkQk laj{k.k dh vko';drk ,oa egÙo dh O;k[;k dhft,A
miHkksÙkQk laj{k.k vf/fu;e] 1986 ds izeq[k izko/ku D;k gSa\

8. Explain various types of Marine Insurance Covers

available under Marine Insurance Act. 10

leqnzh chek vf/fu;e ds varxZr izkIr gksus okys fofHkUu
tksf[ke chek o.kZu dhft,A



9. Write notes on the following : 10

fuEufyf[kr ij fVIif.k;k¡ fyf[k, %

(a) Insurance Ombudsman

chek yksdiky

(b) Motor Vehicle Act, 1988.

eksVj okgu vf/fu;e] 1988-

26067/K/854 4
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Roll No. ......................... Total Pages : 3

BCM/D-20 26068

ADVERTISING MEDIA

Paper–ASPSM–BC(VOC)-305

Time Allowed : 3 Hours] [Maximum Marks : 60

Note : Attempt five questions in all. Question No. 1 is

compulsory. Rest questions carry equal marks.

dqy ik¡p iz'uksa ds mÙkj nhft,A iz'u la[;k 1

vfuok;Z gSA 'ks"k iz'uksa ds vad leku gSaA

Compulsory Question (vfuok;Z iz'u)

1. Write short answers of the following : 5×4=20

fuEufyf[kr ds laf{kIr mÙkj fyf[k, %

(a) Rational Advertising

fopkj;qDr foKkiu

(b) Green Advertising

gfjr foKkiu

(c) Media Frequency

ehfM;k vko`fr
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(d) Press Conference

izsl lEesyu

(e) Exhibitions and Mela as an Advertising tool.

,d foKkiu ekè;e ds :i esa iznZ'kfu;ka ,oa esykA

2. What do you mean by e-advertising? Discuss the

advantages and disadvantages  of e-advertising. 10

bZ&foKkiu ls vkidk D;k vfHkizk; gS\ bZ&foKkiu ds xq.k
,oa nks"kksa dk o.kZu dhft,A

3. Explain different types of Advertising Medium. 10

fofHkUu izdkj ds foKkiu ekè;eksa dk o.kZu dhft,A

4. What do you understand by Print Media? What are

its various forms? Discuss the merits and demerits

of Print Media of Advertising. 10

¯izV ehfM;k ls vki D;k le>rs gSa\ ¯izV ehfM;k ds fofHkUu
:i dkSu&ls gSa\ blds xq.k o nks"kksa dk o.kZu dhft,A

5. What do you mean by Broadcast Advertising Media?

Explain Television as an important medium of

Broadcast advertising. 10

izlkj.k foKkiu ehfM;k ls vki D;k le>rs gSa\ Vsfyfotu
dh izlkj.k foKkiu ds egÙoiw.kZ ekè;e ds :i esa O;k[;k
dhft,A
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6. What are the challanges in Rural Market advartising

in India? Explain in detail. 10

Hkkjr o"kZ esa xzkeh.k cktkj {ks=k esa foKkiu lac/h pqukSfr;k¡
dkSu&lh gSa\ foLr`r O;k[;k dhft,A

7. What is Media Planning? What factors should be

considered while framing Media Plan? 10

ehfM;k fu;kstu ls D;k vfHkizk; gS\ ehfM;k fu;kstu djrs
le; fdu&fdu ckrksa dks è;ku esa j[kuk pkfg,\

8. What is Media Scheduling? Explain Media Scheduling

strategies. 10

ehfM;k le;c¼rk D;k gS\ ehfM;k le;c¼rk j.kfufr;ksa dk
o.kZu dhft,A

9. What are the different Cost Centres of Media

Planning? 10

ehfM;k fu;kstu dh fofHkUu ykxr fcUnq,¡ dkSu&dkSu lh
gSa\



BCM/D-20

PERSONAL SELLING AND SALESMANSHIP-I

five 1

26069

Paper - ASPSM-BC-306

Attempt questions in all. Question No. is

compulsory. Rest questions carry equal marks.

Time allowed : 3 Hours Maximum Marks : 60

Note :

dqy iz'uksa ds mÙkj nhft, A iz'u la[;k

vfuok;Z gS A 'ks"k iz'uksa ds vad leku gS A

ik¡p

Compulsory Question (vfuok;Z iz'u)

1. Write short notes on the following : 5×4=20

(i) The ‘AIDAS’ theory of Selling

‘AIDAS’

(ii) Selling process

(iii) Approaching in Selling process

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, %

foØ; ds fl¼kUr

foØ; izfØ;k

foØ; izfØ;k esa Hkkoh Øsrkvksa ds lkFk lEidZ

û

Roll No. ............................ Total Pages : 3
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(iv) Follow up

(v) Four main differences between advertising

and personal selling.

2. What do you mean by Salesmanship ? Describe

the importance of selling. 2+8

3. What is meant by Buying motives ? Give the

classification of buying motives. 2+8

4. What is Consumer market ? Explain the

characteristics of consumer market. 2+8

5. What is Presentation and Demonstration ?

Discuss the techniques of good demonstration.

vuqxeu

foKkiu o oS;fDrd foØ; esa pkj izeq[k vUrj A

foØ;dyk ls vkidk D;k vfHkizk; gS\ foØ; ds egÙo

dk o.kZu dhft, A

Ø; izsj.kkvksa ls D;k vFkZ gS \ Ø; izsj.kkvksa dk

oxhZdj.k dhft, A

miHkksDrk cktkj D;k gS \ miHkksDrk cktkj dh

fo'ks"krkvksa dk o.kZu dhft, A
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izLrqfrdj.k ,oa izn'kZu D;k gSa \ vPNs izn'kZu dh

rduhdksa dk o.kZu djsa A

oS;fDrd foØ; ls vkidk D;k vfHkizk; gS \ foØ;

izfØ;k ds fofHkUu pj.kksa dh O;k[;k djsa A

foØ;dyk dks ifjHkkf"kr djsa A foØ;dÙkkZ ds xq.kksa dh

O;k[;k djsa A

iwosZ{k.k D;k gS \ vPNs Øsrk dh fo'ks"krkvksa dk o.kZu

djsa A

foØ;dÙkkZ ds fofHkUu izdkj D;k gSa \ o.kZu djsa A

3+7

6. What do you mean by Personal Selling ? Explain

various stages of selling process. 2+8

7. Define Salesmanship. Explain the qualities of

salesman. 2+8

8. What is Prospecting ? Explain the characteristics

of a good prospect. 2+8

9. What are the different types of Salespersons ?

Explain. 10
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Roll No. ......................... Total Pages : 12

OBCM/D-20 26070

CORPORATE ACCOUNTING–I

Paper–BC 301

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is

compulsory. All questions carry equal marks.

dqy ik¡p iz'uksa ds mÙkj nhft,A iz'u la[;k 1

vfuok;Z gSA lHkh iz'uksa ds vad leku gSaA

Compulsory Question (vfuok;Z iz'u)

1. Write short notes on the following :

fuEufyf[kr ij laf{kIr uksV fyf[k, %

(a) Capital Redemption Reserve Account.

iw¡th 'kksèku lap; [kkrkA

(b) Utilisation of Securities Premium.

izfrHkwfr izhfe;e jkf'k dk iz;ksxA

(c) Contingent Liabilities.

vkdfLed nkf;RoA
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(d) Objectives of internal reconstruction.

vkarafjd iqu£uEkkZ.k ds mís';A

(e) Corporate Dividend Tax.

dkWjiksjsV ykHkka'k djA

2. A Ltd. Company issued a prospectus inviting

applications for 3,000 shares of `  10 each at a

premium of `  2 per share payable as follows :

On Application `  3 per share ; On Allotment `  4

(including premium) per share ;

On First Call `  3 per share ; and On Second and

Final Call `  2 per share.

Applications were received for 4,500 shares.

Allotment was made pro-rata to the applicants

for 3,600 shares and application money on 900

shares was paid back. Excess application money

was utilized towards sum due on allotment.

Mr. R, to whom 60 shares were allotted, failed to

pay the allotment money and on his subsequent

failure to pay the First call his shares were

forfeited. Mr. M, the holder of 90 shares failed to

pay the two calls and his shares were forfeited

after the Second call. All the forfeited shares were

reissued to Mr. P as fully paid at `  9 per share.

Show the Journal entries. 15
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,d fyfeVsM daiuh dk ,d izfooj.k izdkf'kr fd;k x;k]
ftlesa  ̀  10 okys 3]000 va'kksa dks ` 2  izfr va'k izhfe;e
ij fuxZfer djus ds fy, vkosnu i=kksa dh ekax dh xbZA
Hkqxrku bl izdkj ns; Fkk % vkosnu ij ` 3  izfr va'k_
vkcaVu ij ` 4  izfr va'k (izhfe;e lfgr)] izFke ;kpuk
ij ` 3  izfr va'k o f}rh, ,oa vafre ;kpuk ij ` 2  izfr
va'kA
6]000 va'kksa ds fy, vkosnu i=k izkIr gq,A 4]800 va'kkas ds
vkosndksa dks vkuqikfrd :i ls vkcaVu fd;k x;k] 'ks"k
vkosnu i=k vLohÑr dj fn, x, vkSj mudh jkf'k ykSVk
nh xbZA vkosnu i=k dh vkfèkD; dh jkf'k vkcaVu ij ns;
jkf'k;ksa ds Hkqxrku ds fy, iz;ksx dh xbZA
vkj ftlds ikl 60 va'k Fks vkcaVu dh jkf'k nsus esa vlEkFkZ
jgk vkSj tc og izFke ;kpuk dk Hkh Hkqxrku ugha dj ldk
rks mlds va'kksa dk vigj.k dj fy;k x;kA ,We ftlds ikl
90 va'k Fks nksuksa ;kpuk,a nsus esa vleFkZ jgk vkSj f}rh;
;kpuk ds ckn mlds va'kksa dk vigj.k dj fy;k x;kA lHkh
vigj.k fd;s x, va'k ` 9  izfr va'k ds fglkc ls iw.kZnRr
ekurs gq, ¶ih¸ dks csp fn, x,A tuZy izfof"V;ka dhft,A

3. Explain clearly the legal requirements for the

Redemption of Preference Shares as laid down in

Section 55 of the Companies Act, 2013. Give the

Journal entries that are made in this connection.

15



oaQiuh vfèkfu;e dh /kjk ds varxZr iwoZkf/dkj va'kksa ds
'kks/u ds fo"k; esa dkuwuh izko/kuksa dks Li"V :i ls
le>kb,A blds lEcU/ esa tks tuZy ys[ks fd;s tkrs gSa] mUgsa
crkb,A

4. Write notes on the following : 7,8

fuEufyf[kr ij uksV fyf[k, %

(a) Issue of Debentures for consideration other than

cash.

udnh ds vfrfjDr fdlh vU; izfriQy ds cnys ½.ki=kksa

dk fuxZeuA

(b) Writing off Discount/loss on issue of debentures.

½.ki=kksa ds fuxZeu ij dVkSrh dks vifyf[kr djukA

5. On 1st April, 2007 ABC Ltd. issued 2,000, 12%

debenures of `   100 each at par redeemable at the

end of three years. It has been decided to set up

a Sinking Fund for the purpose of their redemption.

The investments are expected to earn interest at

4% p.a. the Sinking Fund Table shows that

`   0.320348 invested each year amounts to `   1 @

4% p.a. in three years.

Investments were sold at par on 31st March, 2010

and the debentures were paid off. Pass journal
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entries and prepare necessory accounts. Interest

relating to interest on debentures may be ignored.

15

,chlh fyfeVsM us 1 vizSy] 2007 dks ½.ki=k fuxZfer fd;s
ftudk rhu o"kZ ckn le ewY; ij 'kks/u fd;k tkuk gSA
buds 'kks/u ds fy, ,d 'kks/u dks"k dh LFkkiuk dk fu'p;
fd;k x;kA fofu;ksxksa ij 4» okf"kZd dh nj ls C;kt izkIr
gksus dh laHkkouk gSA 'kks"ku dks"k rkfydk n'kkZrh gS fd
` 0-320348 izfr o"kZ fofu;ksx djus ij okf"kZd dh nj ls
rhu o"kZ esa `1 cu tkrk gSA

31 ekpZ] 2010 dks fofu;ksxksa dks le ewY; ij csp fn;k
x;k vkSj ½.ki=kksa dk Hkqxrku dj fn;k x;kA
  tuZy izfof"V;ka rFkk vko';d [kkrs cukb,A ½.ki=kksa ij
C;kt ls lEcaf/r izfof"V;ka cukus dh vko';drk ugha gSA

6. The Trial Balance of Superior Garments Ltd. as at

31st March, 2018 is given below :

31 ekpZ] 2018 dks lqihfj;j xkjesaV~l fyfeVsM dk ryiV
fufEufyf[kr Fkk %

Particulars Amount (` )

Buildings (Hkou) 80,000

Machinery  (e'khujh) 60,000

Interim Dividend Paid (varfje ykHkka'k) 6,000

Corporate Dividend Tax paid on 1,221

interim dividend

26070/K/312 5 P. T. O.



(dkWjiksjsV fMfoMsaM VSaDl varfje ykHkka'k ij)

Opening Investory (izkjfEHkd jgfr;k) 18,000

Purchases (Ø;) 1,60,800

Wages (etnwjh) 30,000

Office Furniture (dk;kZy; iQuhZpj) 10,000

Patents (,dLo) 8,000

Trade Receivables (O;kikfjd izkI;) 72,500

Bank Balance (cSad 'ks"k) 18,000

Repairs (ejEer) 1,200

Coal & Water (dks;yk vkSj ikuh) 2,500

Rent & Taxes (fdjk;k ,oa dj) 5,000

Prepaid Expenses (iwoZnÙk O;;) 2,000

Salaries (osru) 15,000

Bad Debts (Mwcr ½.k) 1,000

Returns Inwards (foØ; okilh) 6,000

Carriage (xkM+h HkkM+k) 4,000

5,01,221

Particulars Amount (` )

Share Capital (va'k iw¡th)

(10,000 shares of Rs. 10 each) 1,00,000

26070/K/312 6



Sales (foØ;) 3,20,000

Profit and Loss balance (ykHk&gkfu 'ks"k) 29,221

Unsecured Loan (vlqjf{kr ½.k) 22,000

Securities Premium (izfrHkwfr izhfe;e) 2,000

Trade Payables (O;kikfjd ns;) 19,500

Staff Provident Fund (LVkiQ Hkfo"; fuf/) 6,000

Provision for Bad Debts 2,500

(Mwcr ½.k gsrq vk;kstu)

5,01,221

Prepare Statement of Profit & Loss and Balance Sheet

after making the following adjustments :

fuEufyf[kr lek;kstukvksa ds i'pkr~ ykHk&gkfu fooj.k
rFkk fLFkfr fooj.k mfpr izk:i esa rS;kj dhft, %

(a) On 31st March, 2016 Closing Inventory `  42,000.

31 ekpZ] 2016 dks vafre jgfr;k ` 42]000-

(b) Write off `  500 as Bad debts.

` 500 Mwcr ½.k ds vifyf[kr dhft,A

(c) Create a provision of 2% for discount on Trade

receivables and a provision for Doubtful debts

@ 5%.
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O;kikfjd izkI;ksa ij 2» NwV ds fy, rFkk 5» lafnX/

½.k ds fy, vk;kstu cukb,A

(d) Provide `  2,000 for the Company’s contribution

to Staff Provident Fund.

`  2]000 LVkiQ Hkfo"; fuf/ ds fy, daiuh ds va'knku
dk izko/ku djuk gSA

(e) A claim of `  3,000 for Workmen’s compensation

is being disputed by the company.

` 3]000 dk ,d deZpkjh dh {kfriwfrZ dk nkok daiuh
}kjk fookn dh fLFkfr esa gSA

(f) Provision for Income Tax is to be made @ 50%

of the Profits.

vk;dj ds fy, 'kq¼ ykHk dk 50» vk;kstu djuk
gSA

(g) It is preposed to declare a Dividend of `  2 per

share.

;g fuf'pr fd;k x;k gS fd ykHkka'k ` 2 izfr va'k
?kksf"kr fd;k tkuk gSA

(h) Transfer 10% of Current year’s Net Profit to

General Reserve.

lkekU; lap; esa pkyw o"kZ ds 'kq¼ ykHk dk 10»
gLrkarfjr djuk gSA
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(i) Provide Corporate Dividend Tax @ 20.358%.

dkWjiksjsV ykHkka'k dj ds fy, 20-358» dk izko/ku
dhft,A

7. What is Purchase consideration? Explain different

methods of calculation of Purchase consideration.

3,12

ys[kkadu izeki&14 ds vuqlkj Ø; ewY; D;k gksrk gS\ bldh
x.kuk dh fof/;ksa dk o.kZu dhft,A

8. Write notes on the following : 5,5,5

fuEufyf[kr ij uksV fyf[k, %

(a) Amalgamation in the nature of merger.

feJ.k dh izÑfr dk ,dhdj.kA

(b) Corporate Social Responsibility.

dkWjiksjsV lkekftd mÙkjnkf;RoA

(c) Right shares.

vf/dkj va'kA

9. The Balance Sheet of X Ltd. as at 31st March,

2015 :

31 ekpZ] 2015 dks ,Dl fyfeVsM dh cSysal 'khV fuEufyf[kr

gS %
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1. Equity & Liabilities :                    Amount (` )

Shareholder’s Funds :

Authorised & Issued Capital :

4,000 Equity Shares of `  100 each 4,00,000

2,000, 7% Preference Shares of

`  100 each 2,00,000

Surplus (2,00,000)

Non–Current Liabilites :

6% Debentures 2,00,000

Current Liabilities :

Trade Payables 2,00,000

8,00,000

2. Assets :                                      Amount (` )

Non–Current Assets :

Land & Buildings 1,40,000

Plant & Machinery 1,50,000

Goodwill   50,000

Patent Rights   40,000

Current Assests :

Inventories 1,60,000
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Trade Receivables 2,15,000

Cash & Bank Balance    5,000

Current/ Non–Current Assets :

Share Issue Expenses   25,000

Discount on issue of Debentures   15,000

 8,00,000

The following scheme of Reconstruction was duly

approved :

fuEufyf[kr iqu£uekZ.k dh ;kstuk dks fof/or eatwjh nh xbZ %

(a) Equity shares are to be reduced to equal number

of fully paid shares of `  50 each.

lerk va'kksa dks ?kVk dj mruh gh la[;k ds va'kksa esa]

` 50 izfr va'k iw.kZr;k pqdrk esa cny fn;k tk;sxkA

(b) 7% Preference shares are to be reduced by 30%

and the rate of Dividend increased to 9%.

iwokZf/dkj va'kksa dks 30» ls ?kVk;k tk;sxk rFkk mu
ij ykHkka'k nj c<+k dj 9» dj nh tk,xhA

(c) The Value of Land and Buildings to be increased

by 10%.

Hkwfe ,oa Hkou dk ewY; 10» ls c<+;k tk;sxkA
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(d) The Debentures are to be reduced by 20%.

½.ki=kksa dks 20» ls ?kVk;k tk;sxkA

(e) All Fictitious Assets and Goodwill are to be

eliminated and balance used to write-off the

patents.

lHkh Ñf=ke lEifr;ksa ,oa [;kfr dks vifyf[kr dj

fn;k tk;sxk ,oa i¡wth dVkSrh [kkrs ds cps gq, 'ks"k ls

,dLo dks vifyf[kr fd;k tk;sxkA

(f) Further Equity shares are to be issued for

`  50,000 for cash.

` 50]000 ds u, lEkrk va'kksa dks udn izfriQy ds fy,

fuxZfer fd;s tk;asxsA

Pass Journal entries to give effect to the above scheme

and prepare the post reconstruction Balance Sheet.

mijksÙkQ ;kstuk ls izHkkfor tuZy izfof"V;ka dhft, RkFkk
la'kksf/r fpV~Bk cukb,A

26070/K/312 12
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Roll No. ......................... Total Pages : 6

OBCM/D-20 26071

BUSINESS STATISTICS–I

Paper–BC–302

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is

compulsory which comprises short answer type

questions of 4 marks each. Attempt four

questions from remaining eight Questions

carrying 15 marks each.

dqy ik¡p iz'uksa ds mÙkj nhft,A iz'u la[;k 1

vfuok;Z gS] ftlesa y?kq mÙkjh; iz'u gS rFkk izR;sd
iz'u 4 vad dk gSA 'ks"k 8 iz'uksa esa ls fdUgha 4
iz'uksa ds mÙkj nhft,A izR;sd iz'u 15 vadksa ds gSA

Compulsory Question (vfuok;Z iz'u)

1. Write short notes on the following : 5×4=20

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, %

(a) ‘Statistics’ in singular sense.

lkaf[;dh dks ,dopu ds :i eas ifjHkkf"kr dhft,A
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(b) The uses of Correlation.

lglaca/ dh mi;ksfxrk,¡A

(c) Various sources of collecting Secondary Data.

f}rh; vkadM+ksa dks bdV~Bk djus ds fofHkUu lzksrA

(d) The components of Time series.

dky Js.kh ds la?kVdA

(e) Four importance of Probability.

izkf;drk ds pkj egÙoA

2. “Statistics is not a Science, it is a Scientific method.”

Discuss it caritically and explain the scope and

limitations of Statistics. 15

¶lkaf[;dh ,d foKku ugha] ;g ,d oSKkfud fof/ gSA¸ bl
dFku dk vkykspukRed foospu dhft, vkSj lkaf[;dh ds
{ks=k vkSj lhekvksa dks Li"V dhft,A

3. (a) What are the Mathematical properties of

Arithmetic mean? 5

lekarj ekè; dh xf.krh; fo'ks"krk,¡ D;k gSa\

(b) Find the missing frequency in the following

distribution, if N=100 and M=30 : 10
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;fn N=100 vkSj M=30 gks] rks fuEu forj.k esa yqIr
vko`fÙk dk irk yxkb, %

 Marks 0-10 10-20 20-30 30-40 40-50 50-60

 No.of Students  10   ?  25 30 ?       10

4. Find Correlation coefficient between age and playing

habits of the following Students : 15

fuEufyf[kr Nk=kksa dh mez vkSj [ksy dh vknrkas ds chp

lglaca/ xq.kkad [kkstsa %

Age (Years) No. of Students Regular Players

   15-16        250 200

   16-17        200 150

   17-18        150  90

   18-19        120  48

   19-20        100  30

   20-21         80  12

Also calculate probable error of Coefficient of

Correlation.

lglaca/ ds xq.kkad dh laHkkfor =kqfV dh Hkh x.kuk dhft,A



5. You are given the following Data about Sales and

Advertisement expenditure of a firm : 15

vkidks fdlh iQeZ dh fcØh vkSj foKkiu O;; ds ckjs esa
fuEUkfyf[kr vkadM+s fn, x, gSaA %

      Sales Adv. Expenditure

   (Rs. Crore)    (Rs. Crore)

    A.M.        50        10

    S.D.        10         2

Coefficient of Correlation (‘r’) = 0.8

lglaca/ dk xq.kkad (‘r’) = 0.8

(a) Calculate two Regression Equations.

nks izfrxeu lehdj.kksa dh x.kuk dhft,A

(b) Estimate Sales, when Advertisement expenditure

is Rs. 13.5 crore.

;fn foKkiu ij 13-5 djksM+ #i;s [kpZ fd;k tk,] rks
fcØh dk vuqeku yxkb,A

(c) What should be Advertisement budget, if the

company wants to achieve a Sales target of

Rs. 70 crore?

;fn oaQiuh 70 djksM+ dh fcØh dk y{; izkIr djuk
pkgrh gS] rks foKkiu ctV D;k gksuk pkfg,A

26071/K/361 4



6. What is Fisher’s ideal index? Why is it called Ideal?

Show that it satisfies both the Time reversal test as

well as Factor reversal test. 15

fiQ'kj dk vkn'kZ lwpdkad D;k gS\ bls vkn'kZ D;ksa dgk
tkrk gS\ fn[kk,¡ fd ;g le; mRØe.k ijh{k.k vkSj dkjd
izR;koRkZu ifj{k.k nksuksa dks larq"V djrk gSA

7. Construct cost of living index number from the

following Data of 1986 using. : 15

1986 ds mi;ksx ds fy, fuEufyf[kr vk/kj lkexzh ls
fofHkUu fof/;ksa dk iz;ksx djrs gq, thou fuokZg lwpdkad
dh x.kuk dhft, %

(a) Family Budget method

ikfjokfjd ctV fof/

(b) Aggregative Expenditure method.

ldy O;; fof/A

Items Quantity Unit    Prices

         Consumed in 1985             1985 1986

Wheat 4 Qtls Kg 1.50 1.60

Rice 50 Kg Qtls. 800 1000

Cloth 40 Meter Meter  20   25
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Oil 20 Litres Litre       1.80    2

House Rent One House House 100  125

8. (a) State and prove Baye’s theorem of Probability.

izkf;drk dk cs;l izes; D;k gS\ bls fl¼ dhft,A

(a) Discus properties of Binomial Distribution.

f}in forj.k dh fo'ks"krkvksa dk o.kZu dhft,A

(c) Discuss the properties of Normal Distribution.

lkekU; forj.k dh fo'ks"krkvksa dk o.kZu dhft,A

5×3=15

26071/K/361 6



Roll No. .......................... Total Pages : 04

OBCM/D-20 26072
HUMAN RESOURCE MANAGEMENT

BC-303

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.

All questions carry equal marks.

dqy ik¡p iz'uksa ds mÙkj nhft, A iz'u la[;k 1 vfuok;Z

gS A lHkh iz'uksa ds vad leku gSa A

Compulsory Question (vfuok;Z iz'u)

1. Attempt the following short answer type questions : 4 each

(a) Describe various types of transfers.

(b) Outline certain future challenges to the field of HR.

(c) Mention some Off-the Job training Methods.

(d) What are the various types of HR Planning ?

(e) Differentiate between HRM and HRD.

fuEufyf•r y?kq mÙkjh; iz'uksa ds mÙkj nhft, %

(v) fofHkUu çdkj ds LFkkukUrj.k dk o.kZu dhft, %

(c) ekuo lalk/u ds {ks=k ds fy, Hkfo"; dh dqN pqukSfr;ksa

dh :ijs•k A

(l) dqN dk;Z izf'k{k.k dh cUn fof/;ksa dk mYys• dhft, A

(n) ekuo lalk/u ;kstuk ds fofHkUu çdkj D;k gSa \

(b) ,p-vkj-,e- vkSj ,p-vkj-Mh- ds chp varj A

(3)L-26072(TR) 1



2. Imagine as if you have to design a training program for

sales professionals. What kind of steps you have to follow

for designing a training program for such employees ?

Elaborate.

ekuks vkidks fcØh is'ksojksa ds fy, ,d çf'k{k.k dk;ZØe rS;kj

djuk gS A ,sls deZpkfj;ksa ds fy, çf'k{k.k dk;ZØe rS;kj djus

ds fy, vkidks fdl rjg ds dne mBkus gksaxs \ foLr`r

dhft, A

3. Define Potential Appraisal. How is it different from

Performance Appraisal ? Why is it used ? Discuss certain

methods to assess the potential of any employee.

laHkkfor ewY;kadu dks ifjHkkf"kr dhft, A ;g çn'kZu ewY;kadu ls

dSls vyx gS \ bldk mi;ksx D;ksa fd;k tkrk gS \ fdlh Hkh

deZpkjh dh {kerk dk vkdyu djus ds fy, dqN rjhdksa ij

ppkZ dhft, A

4. What is the meaning of International Mobility in HR ?

State the purposes and intentions behind doing such

activity in HR. Which kinds of decision are covered

under Internal Mobility ? Explain.

,p-vkj- esa varjkZ"Vªh; xfr'khyrk dk vFkZ D;k gS \ ,p-vkj- esa

bl rjg dh xfrfof/ djus ds ihNs mís'; vkSj bjkns crkb, A

vkarfjd xfr'khyrk ds rgr fdl çdkj ds fu.kZ; dks doj fd;k

tkrk gS \ Li"V dhft, A
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5. Elaborate the concept of Job Design. Identify the key

factors which has to be taken care of while designing a

motivating job. Which techniques are usually followed

for performing job design ?

tkWc fMtkbu dh vo/kj.kk dks foLr`r dhft, A mu çeq•

dkjdksa dh igpku dhft, ftUgsa ,d çsjd tkWc fMtkbu djrs

le; è;ku j•uk gS A tkWc fMtkbu djus ds fy, vkerkSj ij

fdu rduhdksa dk ikyu fd;k tkrk gS \

6. Discuss the factors affecting Manpower Planning. Examine

the problems hampering the effectiveness of Manpower

Planning. State certain suggestive measures/guidelines for

performing manpower planning effective.

tu'kfDr ;kstuk dks çHkkfor djus okys dkjdksa ij ppkZ dhft, A

tu'kfDr ;kstuk dh çHkko'khyrk esa ck/k Mkyus okyh leL;kvksa

dh tk¡p dhft, A tu'kfDr fu;kstu çHkkoh cukus ds fy, dqN

lq>kokRed mik;@fn'kkfunZs'k crkb, crkb, crkb, A

7. In your opinion, in this technology enabled business

environment, what could be the major challenges that are

hampering the effectiveness of recruitment and selection

processes for any modern organisation ? Identify them.

vkidh jk; esa] bl rduhd us O;olk; ds ekgkSy dks l{ke

fd;k] ,slh dkSulh cM+h pqukSfr;k¡ gks ldrh gSa tks fdlh Hkh vk/

qfud laxBu ds fy, HkrhZ vkSj p;u çfØ;kvksa dh çHkko'khyrk esa

ck/k cu jgh gSa \ mUgsa igpkfu, A
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8. What is Succession Planning ? How is it different from

Human Resource Planning ? Mention the key objectives

and advantages of succession planning.

mÙkjkf/dkj ;kstuk D;k gS \ ;g ekuo lalk/u ;kstuk ls dSls

fHkUu gS \ mÙkjkf/dkj ;kstuk ds çeq• mís';ksa vkSj ykHkksa dk

mYys• dhft, A

9. On what parameters the evaluation of training program is

performed ? Explain some of the methods which are used

to evaluate the effectiveness of a training program.

çf'k{k.k dk;ZØe dk ewY;kadu fdu ekinaMksa ij fd;k tkrk gS \

fdlh çf'k{k.k dk;ZØe dh çHkko'khyrk dk ewY;kadu djus ds

fy, mi;ksx fd, tkus okys dqN rjhdksa ds ckjs esa crkb, A

(3)L-26072(TR) 2 ??
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Roll No. ......................... Total Pages : 3

OBCM/D-20 26073

PRINCIPLES OF MARKETING

Paper–BC-304

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is

compulsory. All questions carry equal marks.

dqy ik¡p iz'uksa ds mÙkj nhft,A iz'u la[;k 1

vfuok;Z gSA lHkh iz'uksa ds vad leku gSaA

Compulsory Question (vfuok;Z iz'u)

1. Explain the following :

fuEu dh O;k[;k dhft, %

(a) Is marketing a Science or Art? Describe.

D;k foi.ku ,d foKku vFkok dyk gS\ crkb,A

(b) Structure of Product-mix.

mRikn feJ.k dh lajpukA

(c) Classification of Packaging.

iSds̄ tx dk oxhZdj.kA
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(d) Ethical objections in Advertising.

foKkiu dh uSfrd vkifÙk;k¡A

(e) Green Marketing.

gfjr foi.kuA

2. Explain the difference between Traditional and

Modem concept of Marketing? Also discuss the

importance of Marketing in modem Business.

foi.ku ds ijEijkxr rFkk vk/qfud fopkjksa esa varj dh
O;k[;k dhft,A vk/qfud O;olk; esa foi.ku ds egÙo dk
Hkh o.kZu dhft,A

3. Why is it necessary to scan Marketing Environment?

Explain external forces of Marketing environment.

foi.ku okrkoj.k dk fo'ys"k.k D;ksa vko';d gS\ foi.ku
okrkoj.k dh ckgjh 'kfDr;ksa dk o.kZu dhft,A

4. What is the significance of studying Consumer

Behaviour? What are the difficulties in understanding

the Consumer Behaviour?

miHkksÙkQk O;ogkj ds vè;;u dk D;k egÙo gS\ miHkksÙkQk
O;ogkj dks le>us esa dkSu&lh dfBukb;k¡ gSa\

5. What are different stages of Product life cycle? What

is the importance of studying Product life cycle in

Marketing?
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mRikn thou pØ ds fofHkUu pj.k dkSu ls gSa\ foi.ku
esa mRikn thou pØ dk D;k EkgÙo gS\ foi.ku esa mRikn
thou pØ dk D;k egÙo gSa\

6. What are the different Pricing objectives? Briefly

explain the process of Price setting in Practice.

ewY; fu/kZj.k ds mís'; dkSu ls gSa\ ewY; fu/kZj.k izfØ;k
dh laf{kIr :i esa O;k[;k dhft,A

7. Explain different types of Channels of Distribution.

Discuss the various factors that influence Channel

choice.

forj.k ekè;e ds fofHkUu izdkjksa dh O;k[;k dhft,A pSuy
p;u dks izHkkfor djus okys fofHkUu dkjdksa ij ppkZ dhft,A

8. Define the Marketing Research. Explain the

Marketing research process.

foi.ku vuqla/ku dks ifjHkkf"kr dhft,A foi.ku vuqla/ku
izfØ;k dh O;k[;k dhft,A

9. What is Online Marketing? Explain its advantages

and limitations.

vkWu ykbu foi.ku D;k gS\ blds ykHkksa ,oa lhekvksa dh
O;k[;k dhft,A



OBCM/D-20

BUSINESS LAWS-I

26074

Paper - BC-305

Attempt five questions in all. Question No. 1 is

compulsory.

Time allowed : 3 Hours Maximum Marks : 80

Note :

dqy ik¡p iz'uksa ds mÙkj nhft, A iz'u la[;k 1

vfuok;Z gS A

Compulsory Question (vfuok;Z iz'u)

1. Write short note on the following : 5×4=20

(i) Essential elements of consideration

(ii) Coercion

(iii) Contract of Indemnity

fuEufyf[kr ij laf{kIr fVIi.kh fy[ks %

izfriQy ds vko';d rRo

mRihM+u ;k cy dk iz;ksx

{kfriwfrZ vuqca/

Roll No. ............................ Total Pages : 3
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(iv) Distinguish between sale and agreement to

sale.

(v) Bill of Exchange.

2. Define agreement and explain its types. 15

3. “The essence of every agreement is that there

should be free consent on both sides.” Explain. 15

4. How and on what grounds proposal stand

revoked ? 15

foØ; rFkk foØ; ds Bgjko esa varj

fofue; lkè; izys[k A

Bgjko dh ifjHkk"kk fy[kks rFkk ;g fdrus izdkj ds gksrs

gS O;k[;k dhft, A

^^izR;sd Bgjko dk lkj ;g gS fd nksuksa i{kksa esa LorU=k

lgefr gksuh pkfg,** le>kb;s A

mu ifjfLFkfr;ksa dk o.kZu djks ftuesa izLrko [kf.Mr

ekuk tkrk gS \

5. Explain the different kinds of remedies suitable

for breach of contract. 15

26074/K/314 2



vuqca/ [kaMu dh n'kk esa miyC/ fofHkUu mipkjksa dh

O;k[;k dhft, A

fu{ksi ds vko';d rRo D;k gS \ fu{ksih ds vf/dkj

vkSj mÙkjnkf;Roksa dk o.kZu djks A

fdu ifjfLFkfr;ksa esa ,d fofue; lkè; ys[ki=k dk

i{kdkj vius nkf;Ro ls eqDr gks tkrk gS \

vnr foØsrk D;k gS \ ,d vnr foØsrk ds vf/dkjksa

dk mYys[k djks A

^^lqiqnZxh** 'kCn dh O;k[;k dhft, rFkk eky dh oS/

lqiqnZxh ls lEcfU/r fu;eksa dks crkb;s A

6. What are the essential elements of bailment ?

Explain the right and duties of bailor. 15

7. Under what circumstances is a party to a

negotiable instrument discharged ? 15

8. What is meant by unpaid seller ? Explain the

right of unpaid seller. 15

9. Explain the term “Delivery” and state the rule

regarding valid delivery of goods. 15
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BCQ/D-20 26098
GOODS AND SERVICE TAX

BC-503

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.

Attempt four out of remaining eight questions.

dqy ik¡p iz'uksa ds mÙkj nhft, A iz'u  la[;k 1 vfuok;Z

gS A 'ks"k vkB iz'uksa esa ls dksbZ pkj iz'u vkSj dhft, A

1. Write notes on the following :

(a) Tax structure is India before Independence

(b) Goods and Service Tax Network

(c) Normal or Forward Charge

(d) Persons liable for registration under GST

(e) Electronic cash ledger. 5×4=20

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, %

(v) LorU=krk ls iwoZ Hkkjr esa dj <k¡pk

(c) oLrq ,oa lsok dj usVodZ

(l) lkekU; ;k vxzsf"kr izHkkj

(n) GST iz.kkyh ds vUrxZr jftLVªs'ku ds fy, mÙkjnk;h

O;fDr

(b) bysDVªksfud [kkrkcgh A

(3)L-26098 1
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2. Discuss the benefits and drawbacks of Goods and Service

Tax. 15

oLrq ,oa lsok dj ds ykHkksa ,oa nks"kksa dk o.kZu dhft, A

3. What do you mean by deemed supply, composite supply

and mixed supply under GST law. 15

th-,l-Vh vf/fu;e ds vUrxZr ekuh tkus okyh vkiw£r] lexz

vkiw£r rFkk fef Ükzr vkiw£r ls vki D;k le>rs gSa \

4. Discuss benefits and drawbacks of registering under GST

Composition Scheme. 15

th-,l-Vh iz'keu ;kstuk ds vUrxZr iw¡thdj.k ds ykHkksa vkSj nks"kksa

dh ppkZ dhft, A

5. Calculate the tax liability of Agro Ltd. from the following

informations : 15

Purchases (Input) of Agro Ltd.

Value of Material = 15000

CGST = 9%

SGST = 9%

All these inputs are used for manufacture of two products

(are taxable and another exempted) and sale value of

output of Agro Ltd.

Sale value of Product (Taxable) = 12000

Value of Product (exempted) = 12000.

CGST–Central Tax = 9%

SGST–State Tax = 9%
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fuEufyf[kr lwpukvksa ds vk/kj ij vki ,xzks fy- dh dj ns;rk

dh x.kuk dhft, %

,xzks fyfeVsM dh [kjhn (buiqV)

lkexzh dk ewY; = 15000

CGST = 9%

SGST = 9%

;s lHkh buiqV nks mRiknksa ds fuekZ.k ds fy, mi;ksx fd,

tkrs gSa (dj ;ksX; vkSj vU; NwV okys gSa) vkSj ,xzks fyfeVsM

ds mRiknu dk fcØh ewY; A

mRikn dk fcØh ewY; (dj&;ksX;) = 12000

mRikn dk ewY; (NwV) = 12000.

CGST–dsUnzh; dj = 9%

SGST–jkT; dj = 9% 15

6. Write short notes on the following :

(a) Revised Invoice

(b) Refund Voucher

(c) E-way Bill.

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, %

(v) la'kksf/r chtd

(c) /u okilh okmpj

(l) E-way fo/s;d A

7. Explain provisions related with quarterly returns under

Composition Levy Scheme. 15

iz'keu ;kstuk ds vUrxZr =k;&ekfld fjVuZ ls lacaf/r izko/kuksa

dk o.kZu dhft, A
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8. Define Tax Deduction at Source. Explain provisions related

to Tax deduction at source under GST Law. 15

Ïksr ij dV dVkSrh dks ifjHkkf"kr dhft, A GST dkuwu ds rgr

Ïksr ij dj dVkSrh ls lacaf/r izko/kuksa dh O;k[;k dhft, A

9. Define general or residual penalty. Explain general

disciplines related to penalty. 15

lkekU; ;k vof'k"V n.M dks ifjHkkf"kr dhft, A n.M ls lacafèkr

lkekU; fo"k;ksa dh O;k[;k dhft, A
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BCQ/D-20 26101
SUPLLY CHAIN MANAGEMENT

BC-506(i)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory

comprising of five short questions carrying 4 marks

each. Attempt any four questions from the remaining

eight questions carying 15 marks each.

dqy ik¡p iz'uksa ds mÙkj nhft, A iz'u  la[;k 1 vfuok;Z

gS ftlesa ik¡p iz'u gSa izR;sd iz'u ds 4 vad gSa A 'ks"k

vkB iz'uksa esa ls dksbZ pkj iz'u vkSj dhft, A izR;sd iz'u

15 vad dk gS A

1. Write short notes on the following : 5×4=20

(a) What are the phases involved in Supply Chain

Management (SCM) ?

(b) What are the obstacles in achieving supply chain

coordination ?

(c) What are the risks involved in using 3PL ?

(d) What is the need of warehousing in Supply Chain

Management System ?

(e) State some recent development in the SCM in brief.

(3)L-26101(TR) 1



fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, %

(v) vkiw£r Ük`a[kyk izca/ (SCM) esa fufgr pj.k D;k gSa \

(c) vkiw£r Ük`a[kyk leUo; izkIr djus esa D;k ck/k,¡ gSa \

(l) 3PL ds iz;ksx esa 'kkfey tksf[ke D;k gSa \

(n) vkiw£r Ük`a[kyk izcU/ iz.kkyh esa Hk.Mkj.k dh D;k vko';drk

gS \

(b) vkiw£r Ük`a[kyk izca/ (SCM) esa gky gh esa gq, dqN

fodklksa dk o.kZu dhft, A

2. Define Supply Chain Management (SCM). What are the

broad participants of the SCM ? Elucidate with examples. 15

vkiw£r Ük`a[kyk izca/ (SCM) dks ifjHkkf"kr dhft, A SCM ds

o`gr~ Hkkxhnkj D;k gSa \ mnkgj.k lfgr o.kZu dhft, A

3. What do you mean by Integrated Supply Chain

Management ? Discuss its types with suitable examples. 15

lexz iw£r Ük`a[kyk izca/ ls vki D;k le>rs gSa \ blds izdkjksa dk

mfpr mnkgj.k lfgr o.kZu dhft, A

4. Why do conflicts emerge among supply chain participants ?

Suggest strategies to resolve these conflicts. 15

vkiw£r Ük`a[kyk izfrHkkfx;ksa ds chp Vdjko D;ksa iSnk gksrs gSa \ bu

Vdjkoksa dks gy djus ds fy, j.kuhfr;ksa ds lq>ko nhft, A

5. What modes of transportation are available for shipment

of goods ? Identify their strengths and weaknesses ? 15

eky ds ynku ds fy, ifjogu ds dkSuls lk/u miyC/ gSa \

mudh rkdrksa vkSj detksfj;ksa dh igpku dhft, A
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6. What are the ways in which a warehouse can be

classified ? How do you determine the location of a

warehouse ? 15

mu rjhdksa dk o.kZu dhft, ftuesa Hk.Mkjx`g dks oxhZÑr fd;k

tk ldrk gS \ ,d Hk.Mkjx`g ds LFkku dk fu/kZj.k vki dSls

djrs gSa \

7. What is the 4PL ? Discuss the emerging role of 4PL in

the achievement of supply chain objectives. 15

4PL D;k gS \ vkiw£r Ük`a[kyk mn~ns';ksa dks izkIr djus esa 4PL

dh mHkjrh Hkwfedk dk o.kZu dhft, A

8. Define Customer Service. Explain the role of customer

service in Supply Chain Management. 15

miHkksDrk lsok D;k gS \ vkiw£r Ük`a[kyk izca/ esa budh Hkwfedk dk

o.kZu dhft, A

9. What is the importance of information system in Supply

Chain Management ? Give examples. 15

vkiw£r Ük`a[kyk izca/ esa lwpuk iz.kkyh dk D;k egÙo gS \

mnkgj.k lfgr o.kZu dhft, A
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BCQ/D-20 26102
INDIAN ECONOMY

BC-506(ii)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.

Attempt any four questions out of remaining eight

questions.

dqy ik¡p iz'uksa ds mÙkj nhft, A iz'u  la[;k 1 vfuok;Z

gS A 'ks"k vkB iz'uksa esa ls fdUgha pkj iz'uksa ds mÙkj nhft, A

1. Attempt the following questions in brief :

(a) Write short note on water conservation.

(b) Meaning of Dry Land Farming.

(c) Meaning of MSME.

(d) Discuss the nature of services.

(e) Meaning of income inequality. 5×4=20

fuEufyf[kr iz'uksa ds la{ksi esa mÙkj nhft, %

(v) ty laj{k.k ij laf{kIr fVIi.kh fyf[k, A

(c) 'kq"d Hkwfe Ñf"k dk vFkZ

(l) MSME dk vFkZ

(n) lsokvksa dh izÑfr dk o.kZu dhft, A

(b) vk; vlekurk dk vFkZ A
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2. Explain the concept of infrastructure. How are economic

and social components of infrastructure related to each

other ? 15

v/kslajpuk dh vo/kj.kk dk o.kZu dhft, A v/kslajpuk ds

vk£Fkd rFkk lkekftd ?kVd ,d&nwljs ls dSls lacaf/r gSa \

3. Give a brief account of agricultural marketing in India.

What has been the role of cooperative societies in this

sphere ? 15

Hkkjr esa Ñf"k foi.ku dk laf{kIr fooj.k nhft, A bl {ks=k esa

lgdkjh lfefr;ksa dh D;k Hkwfedk jgh gS \

4. How is contract farming beneficial to farmers and

contractors ? Explain. Also explain the limitations of

contract farming. 8+7=15

fdlkuksa vkSj Bsdsnkjksa dks vuqcU/ Ñf"k ykHkdkjh dSls gS \

O;k[;k dhft, A vuqcU/ Ñf"k dh lhekvksa dk o.kZu dhft, A

5. Distinguish between cottage and small scale industries.

What is the importance of such industries in the Indian

Economy ? 8+7=15

dqVhj rFkk y?kq iSekus ds m|ksxksa esa vUrj Li"V dhft, A Hkkjrh;

vFkZO;oLFkk esa bl izdkj ds m|ksxksa dk D;k egÙo gS \

6. What do you mean by service red growth ? Explain the

main service sector areas in Indian Economy. 7+8=15

lsok rFkk fodkl ls vki D;k le>rs gSa \ Hkkjrh; vFkZO;oLFkk

esa izeq[k lsok {ks=kksa dk o.kZu dhft, A
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7. Critically examine the changes in the direction and

composition of India’s exports and imports. 15

Hkkjr ds fu;kZrksa vkSj vk;krksa dh fn'kk rFkk lajpuk eas ifjorZuksa

dk vkykspukRed ijh{k.k dhft, A

8. In a mixed economy like Indian economy, are inequalities

of income inevitable ? Give reasons for your answer and

indicate how taxation can be used to reduce economic

inequalities ? 15

Hkkjrh; vFkZO;oLFkk tSlh fef Ükzr vFkZO;oLFkk esa vk; dh vlekurk,¡

vifjgk;Z gSa A vius mÙkj dk dkj.k nhft, vkSj crkb, fd

vk£Fkd vlekurkvksa dks de djus ds fy, dSls djk/ku dk

mi;ksx fd;k tk ldrk gS \

9. What do you mean by inter-state disparities ? Discuss the

main indicators of inter-state disparities in India. 5+10=15

vUrjkZT;h; vlekurkvksa ls vki D;k le>rs gaS \ Hkkjr esa

vUrj&jkT; vlekurkvksa ds izeq[k ladsrdksa dk o.kZu dhft, A
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BCQ/D-20 26103
FUNDAMENTALS OF STOCK MARKET

BC-506-(iii) Opt. (iii)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.

All questions carry equal marks.

dqy ik¡p iz'uksa ds mÙkj nhft, A iz'u la[;k 1 vfuok;Z

gS A

1. Write short notes on the following :

(a) Merchant Bankers

(b) Bear

(c) Put and Call Option

(d) Foreign Institutional Investor

(e) Lame Duck. 5×4=20

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, %

(v) O;kikj cSadj

(c) eanfM+;k

(l) iqV ,oa dkWy fodYi

(n) fons'kh laLFkkxr fuos'kd

(b) fnokfy;k A
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2. Explain the different ways of making fresh issue of

securities. 15

izfrHkwfr;ksa ds uo&fuxZeu ds fofHkUu izdkjksa dk o.kZu dhft, A

3. What do you mean by secondary market ? Explain

the major problems or defects of secondary market in

India. 7,8

lgk;d cktkj ls vkidk D;k rkRi;Z gS \ Hkkjr esa lgk;d cktkj

dh eq[; dfe;ksa rFkk leL;kvksa dk o.kZu dhft, A

4. Explain in detail the trading mechanism of securities at

National Stock Exchange. 15

us'kuy LVkWd cktkj esa izfrHkwfr;ksa dh O;kikfjd ;a=kkoyh dh

foLrkjiwoZd O;k[;k dhft, A

5. What is Bombay Stock Exchange ? What are the listing

requirements and obligations for companies to be listed

on BSF. 5,10

ckWEcs LVkWd cktkj D;k gS \ BSE esa lwphc¼rk djkus okyh

dEifu;ksa ds fy, lwphc¼rk vis{kk,¡ vkSj nkf;Ro D;k gaS \

6. What are the functions of National Security Depository

Ltd. ? Provide the benefits of NSDL. 8,7

jk"Vªh; izfrHkwfr U;klh/kjh fy- ds dk;Z D;k gSa \ NSDL ds ykHk

crkb, A
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7. What are Derivatives ? Explain the uses and shortcomings

of derivatives. 5,10

O;qRiUu D;k gSa \ O;qRiUuksa ds mi;ksxksa rFkk dfe;ksa dk o.kZu

dhft, A

8. Explain Futures. What are different types of futures ? 5,10

Ý;wplZ dk o.kZu dhft, A Ý;wplZ ds fofHkUu izdkj D;k gSa \

9. Explain in detail the Global Depository Receipts. 15

fo'oO;kih U;klh jlhnksa dh foLr`r O;k[;k dhft, A
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OBCQ/D-20 26122

ENTREPRENEURSHIP DEVELOPMENT

BC-502

Time : Three Hours] [Maximum Marks : 80

Note : There are nine questions in all. Q. No. 1 is compulsory.

Attempt any four questions from the remaining eight

questions.

bl iz'u&i=k esa dqy ukS iz'u gSa A iz'u la[;k 1 vfuok;Z gS A

'ks"k vkB iz'uksa esa ls fdUgha pkj iz'uksa ds mÙkj nhft, A

Compulsory Question (vfuok;Z iz'u)

1. (a) Define Entrepreneurship ? Differentiate an employee

from an entrepreneur.

m|ferk dks ifjHkkf"kr dhft, A deZpkjh ,oa m|eh esa

varj crkb, A

(b) Discuss the relationship between entrepreneurship

and economic development.

m|ferk rFkk vkfFkZd fodkl esa laca/ dk o.kZu

dhft, A
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(c) Define and discuss the economic need for

entrepreneurship.

m|ferk gsrq vkfFkZd vko';drk dks ifjHkkf"kr dj o.kZu

dhft, A

(d) Discuss the importance of feasibility analysis.

O;ogk;Zrk fo'ys"k.k ds egRo dk o.kZu dhft, A

(e) Discuss the need for organizing EDPs. 5×4=20

m|ferk fodkl dk;ZØeksa dks vk;ksftr djus dh vko';drk

dk o.kZu dhft, A

2. Discuss the traits of an entrepreneur. Discuss the need,

scope and significance of entrepreneurship for any

economy ? 15

,d m|eh ds xq.kksa dk o.kZu dhft, A fdlh vFkZO;oLFkk gsrq

m|ferk dh t:jr] {ks=k rFkk egRo dk o.kZu dhft, A

3. Define the following : 2×7.5=15

(a) Methods to start one’s business

(b) Environment assessment (PESTEL)

fuEufyf[kr dks ifjHkkf"kr dhft, %

(v) viuk O;olk; pkyw djus dh fof/;k¡

(c) okrkoj.k fo'ys"k.k (PESTEL)

4. Who is a founder entrepreneur ? List out various start-

ups along with their business models and traits of their

founders. 15
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[kksth m|eh D;k gS \ fofHkUu LVkVZ&vIl dh muds O;olk;

ekWMy rFkk muds [kkstdrkZvksa ds xq.kksa ds lkFk rkfydk cukb, A

5. Discuss the financial and non-financial support provided

by government organizations to strengthen the

entrepreneurship support system. 15

m|ferk liksVZ flLVe dks etcwr djus ds fy, ljdkjh laxBuksa

}kjk iznku dh tkus okyh foÙkh; rFkk xSj&foÙkh; lgk;rk dk

o.kZu dhft, A

6. Define feasibility study. Discuss the importance of

conducting feasibility analysis. Also discuss technical

feasibility analysis in detail. 15

O;ogk;Zrk vè;;u dh ifjHkk"kk nhft, A O;ogk;Zrk fo'ys"k.k

djus ds egRo dk o.kZu dhft, A rduhdh O;ogk;Zrk fo'ys"k.k

dk foLr`r o.kZu Hkh dhft, A

7. Define the following : 2×7.5=15

(a) Market potential assessment for a new business

(b) Factors affecting success of new business

fuEufyf[kr dk o.kZu dhft, %

(v) fdlh u;s O;olk; gsrq cktkj laHkkouk fo'ys"k.k

(c) u, O;olk; dh liQyrk dks izHkkfor djus okys dkjd
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8. Write notes on the following : 2×7.5=15

(a) Profit and tax planning of start-ups

(b) Sources of finance for business

fuEufyf[kr ij fVIif.k;k¡ fyf[k, %

(v) LVkVZ&vIl ds ykHk o dj ;kstuk

(c) O;olk; gsrq foÙk ds Ïksr

9. Write a detailed note on the support and incentives offered

by government to new enterprises. 15

u, m|eksa dks ljdkj }kjk fn, tkus okys liksVZ o izksRlkguksa ij

foLr`r fVIi.kh fyf[k, A

(5)L-26122 4 __
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OBCQ/D-20 26124
COMPANY LAW-II

BC-504

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory

and carries 4 marks for each part. Attempt four more

questions from remaining eight questions carrying 15

marks each.

dqy ik¡p iz'uksa ds mÙkj nhft, A iz'u la[;k 1 vfuok;Z

gS] ftlesa izR;sd Hkkx ds 4 vad gSa A 'ks"k vkB iz'uksa esa

ls pkj iz'u vkSj dhft, A izR;sd iz'u 15 vadksa dk gS A

Compulsory Question (vfuok;Z iz'u)

1. (i) What do you mean by Depository System ?

fu{ksikxkj iz.kkyh ls vkidk D;k vfHkizk; gS \

(ii) Distinguish between transfer and transmission of

shares.

va'kksa ds gLrkarj.k vkSj izlkj.k esa varj crkb;s A

(iii) Write a note on resolution requiring special notice.

fo'ks"k lwpuk okys izzLrko ij ,d fVIi.kh fyf[k, A
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(iv) Write short note on floating and fixed charges.

py ,oa vpy izHkkj ij laf{kIr fVIi.kh fyf[k, A

(v) Can central Government order amalgamation of

companies in National Interest ? Explain.

D;k jk"Vªh; fgr esa dEifu;ksa ds ,dhdj.k dk vkns'k

dsUnzh; ljdkj }kjk fn;k tk ldrk gS \ le>kb;s A

2. Define Member. Distinguish between a member and a

shareholder. How is membership terminated ?

lnL; dh ifjHkk"kk nhft, A lnL; ,oa va'k/kjh esa varj crkb;s A

lnL;rk dSls lekIr gks tkrh gS \

3. Define the term Director. Discuss the powers and duties

of directors.

lapkyd 'kCn dh ifjHkk"kk nhft, A lapkydksa ds vf/dkjksa rFkk

drZO;ksa dh foospuk dhft, A

4. Define a company secretary and state his powers and

duties.

dEiuh lfpo dh ifjHkk"kk nhft, vkSj mldh 'kfDr;ksa ,oa

nkf;Roksa dks crkb;s A

5. What is a Statutory meeting ? Explain the provisions

regarding holding of Statutory meeting of Company.

oS/kfud lHkk D;k gS \ dEiuh dh oS/kfud lHkk cqykus ds

lEcU/ esa dEiuh vf/fu;e ds izko/kuksa dh O;k[;k dhft, A
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6. What is Dividend ? Explain the duties of the auditor in

this connection. Can dividend be distributed out of

Capital ?

ykHkka'k D;k gS \ bl lEcU/ esa vads{kd ds nkf;Ro crkb;s A

D;k iw¡th esa ykHkka'k ck¡Vk tk ldrk gS \

7. What do you understand by resolution ? How many types

of resolutions can be passed at a company meeting ?

Discuss the provisions of the Companies Act regarding

these resolutions.

izLrko ls vki D;k le>rs gSa \ ,d dEiuh dh lHkk esa fdrus

izdkj ds izLrko ikl fd, tkrs gSa \ bu izLrkoksa ds lEcU/ esa

dEiuh vf/fu;e ds izko/kuksa dk o.kZu dhft, A

8. Explain the borrowing powers of a Company. When may

a company lawfully borrow money ? What are the

restrictions on the borrowing powers of a company ?

,d dEiuh ds ½.k ysus ds vf/dkj dh O;k[;k dhft, A ,d

dEiuh oS/kfud :i ls dc ½.k ys ldrh gS \ dEiuh }kjk

½.k yssus ds vf/dkjksas ij D;k izfrcU/ gSa \

9. What is member's voluntary winding up ? What are the

provisions applicable to members' voluntary winding up ?

lnL;ksa }kjk ,sfPNd lekiu D;k gS \ lnL;ksa }kjk ,sfPNd lekiu

ij ykxw gksus okys izko/ku D;k gSa \
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MBCM/D-20 26197
BUSINESS REGULATORY FRAMEWORK-I

BC-301

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.

All questions carry equal marks.

dqy ik¡p iz'uksa ds mÙkj nhft, A iz'u la[;k 1 vfuok;Z

gS A lHkh iz'uksa ds vad leku gSa A

1. Attempt the following questions in brief :

(i) Distinguish between Proposal and Acceptance in

Indian Contract Act.

(ii) “Contract with Minor is absolutely void.” Discuss.

(iii) Define the Contingent Agreement.

(iv) Differentiate between the Partner by estoppel and

holding out.

(v) Explain in brief the Reciprocal Promises.

(vi) Distinguish between Fraud and undue influence.

fuEufyf•r ç'uksa ds la{ksi esa mÙkj fyf[k, %

(i) Hkkjrh; vuqca/ vf/fu;e esa çLrko vkSj LohÑfr ds

chp varj crkb, A

(3)L-26197 1



(ii) ^^ekbuj ds lkFk vuqca/ fcYdqy 'kwU; gS A** ppkZ

dhft, A

(iii) vkdfLed le>kSrs dks ifjHkkf"kr dhft, A

(iv) lk>snkj }kjk ,LVksisy vkSj gksfYMax vkmV ds chp varj

dhft, A

(v) jsflizksdy çkWfel dh laf{kIr O;k[;k dhft, A

(vi) /ks•k/M+h vkSj vuqfpr çHkko ds chp varj crkb, A

2. Discuss the main provisions of the Indian Contract Act,

1872 in brief.

Hkkjrh; vuqca/ vf/fu;e] 1872 ds eq[; çko/kuksa ij la{ksi esa

ppkZ dhft, A

3. Define Partnership. Describe the rights and duties of a

partner.

lk>snkjh dks ifjHkkf"kr dhft, A ,d lk>snkj ds vf/dkjksa vkSj

drZO;ksa dk o.kZu dhft, A

4. Describe the salient features of the Right to Information

Act, 2005.

lwpuk dk vf/dkj vf/fu;e] 2005 dh eq[; fo'ks"krkvksa dk

o.kZu dhft, A

5. Define the term Bailment. Describe the types of Contract

of Bailment.

fu{ksih 'kCn dks ifjHkkf"kr dhft, A fu{ksi vuqca/ ds çdkjksa dk

o.kZu dhft, A
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6. Explain the Section 11 of the Indian Contract Act

describing the incompetent persons to enter into a contract.

Hkkjrh; vuqca/ vf/fu;e dh /kjk 11 ds ckjs esa crkb, ftlesa

v{ke O;fDr;ksa dks vuqca/ esa ntZ djuk gS A

7. Explain different kinds of remedies available to buyers

and sellers at the breach of contract of sale.

fcØh ds vuqca/ ds mYya?ku ij •jhnkjksa vkSj foØsrkvksa ds fy,

miyC/ fofHkUu çdkj ds mik; crkb, A

8. What do you understand by mistake ? What are the

effects of mistakes on the validity of contracts ?

vki xyrh ls D;k le>rs gSa \ vuqca/ksa dh oS/rk ij xyfr;ksa

ds çHkko D;k gSa \

9. Describe the Contract of Guarantee. Also discuss its

essential elements and purpose.

xkjaVh dk vuqca/ crkb, A blds vko';d rRoksa vkSj mís'; ij

Hkh ppkZ dhft, A
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